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Name:______________________________

Chapter 1 Test A

Each question is worth 2 points.  Write your answer on the form provided.  Erasure marks may cause the grading machine to mark your answer wrong.

I.
The following selections relate to distinguishing arguments from nonarguments and identifying conclusions.  Select the best answer for each.


1.
There appears to be a growing happiness gap between men and women.  Women today are working more and relaxing less, while men are working less and relaxing more.  Forty years ago a typical woman spent 40 minutes more per week than the typical man performing an activity considered unpleasant.  Today, with men working less, the gap is 90 minutes and growing.



a.
Argument; conclusion: Today … the gap is 90 minutes and growing.



b.
Nonargument.



c.
Argument; conclusion: Forty years ago … an activity considered unpleasant.



d.
Argument; conclusion: There appears to be … between men and women.



e.
Argument; conclusion: Women today are working more and relaxing less.


2.
Lead is toxic, but do you know why?  Lead is toxic mainly because it preferentially replaces other metals in biochemical reactions.  In so doing it interferes with the proteins that regulate blood pressure (which can cause development delays in children and high blood pressure in adults), heme production (which can lead to anemia), and sperm production.  Lead also displaces calcium in the reactions that transmit electrical impulses in the brain, which diminishes the ability to think and recall information.

Anne Marie Helmstine, “Your Guide to Chemistry”



a.
Argument; conclusion: It interferes with the proteins … and sperm production.



b.
Argument; conclusion: Lead is toxic.



c.
Nonargument.


d.
Argument; conclusion: It preferentially replaces other metals in biochemical reactions.



e.
Argument; conclusion: Lead also displaces calcium … recall information.


3.
Aristotle focused on clarifying the concept of virtue itself.  He argued that it was virtuous to choose the proper amount of emotion and/or action called for in a particular situation and that extremes of emotion and action were vices.  In all communities there are some men of practical wisdom who have the capacity to judge wisely.  Aristotle argued that they have the capacity to follow the “right rule” whatever the situation. 
David Cooper, Value Pluralism and Ethical Choice


a.
Argument; conclusion: In all communities … capacity to judge wisely.



b.
Argument; conclusion: Aristotle focused on clarifying the concept of virtue itself.



c.
Argument; conclusion: They have the capacity to follow … the situation.



d.
Argument; conclusion: He argued that it was virtuous … were vices



e.
Nonargument.


4.
Illegal immigrants pay local sales taxes, and many of them also pay state, local, and federal income tax and Social Security tax.  They also purchase items from local merchants, increasing the amount these merchants pay in taxes.  In addition, they work for low salaries, which increases the earnings of their employers and the amount of taxes these employers pay.  Thus, it is not correct to say that illegal immigrants contribute nothing to the communities in which they live.



a.
Argument; conclusion: It is not correct to say … communities in which they live.



b.
Argument; conclusion: They work for low salaries … these employers pay.



c.
Argument; conclusion: Illegal immigrants pay … Social Security tax.



d.
Argument; conclusion: They also purchase items … pay in taxes.



e.
Nonargument. 


5.
Numerous studies have indicated that women of color, black women in particular, are over-arrested, over-indicted, and over-sentenced.  African-American women are seven times more likely to be arrested for prostitution than women of other ethnic groups.  Black women have received significantly longer sentences for crimes against property and served longer periods in prison.  For both murder and drug offenses, Euroamerican women ended up serving one-third less time for the same offenses than black women.

Nancy Kurshan, “Women and Imprisonment in the U.S.”



a.
Argument; conclusion: African-American women … other ethnic groups.



b.
Nonargument. 



c.
Argument; conclusion: For both murder and drug offenses … black women.



d.
Argument; conclusion: Numerous studies have indicated … over-sentenced.



e.
Argument; conclusion: Black women have received … longer periods in prison.


6.
It’s even more important these days that your computer be protected by a firewall.  There are criminal elements lurking in the shadows of cyberspace who send out probes to detect unprotected PCs.  Once a vulnerable computer is found, these criminals install software that assists them in committing identity theft and fencing stolen IDs.  They also defraud online advertisers by using these zombie computers to visit pay-per-click ads.



a.
Argument; conclusion: There are criminal elements … to detect unprotected PCs.



b.
Argument; conclusion: Once a vulnerable computer … fencing stolen IDs.



c.
Nonargument. 



d.
Argument; conclusion: They also defraud … to visit pay-per-click ads.



e.
Argument; conclusion: It’s even more important … protected by a firewall.


7.
The earth is of interest to astronomy for many reasons.  Nearly all observations must be made through the atmosphere, and the phenomena of the upper atmosphere and the magnetosphere reflect the state of interplanetary space.  The earth is also the most important object of comparison for planetologists. 

Hannu Karttunen, et al., Fundamental Astronomy


a.
Argument; conclusion: The phenomena … state of interplanetary space.



b.
Argument; conclusion: The earth is also … for planetologists.



c.
Argument; conclusion: The earth is of interest to astronomy.



d.
Nonargument. 



e.
Argument; conclusion: Nearly all observations … through the atmosphere.


8.
If the trade in tiger products is banned, tiger reserves are guarded by well equipped staff, communities abutting tiger habitat are given a stake in protecting tigers, and the makers of traditional medicines can be persuaded that tiger parts are not needed, then tiger poaching will be halted, habitat and life sustaining prey will be restored, and the immanent extinction of tigers in the wild will be averted.



a.
Nonargument. 



b.
Argument; conclusion: The trade in tiger products is banned.



c.
Argument; conclusion: Tiger poaching will be halted.



d.
Argument; conclusion: The makers of traditional medicines … not needed.



e.
Argument; conclusion: Tiger poaching will be halted … will be averted.


9.
Humans are biological organisms.  To understand our behavior and mental processes, we need to understand their biological underpinnings, starting with the cellular level, the neuron.  How we feel, learn, remember, and think all stem from neuronal activity.  So, how a neuron works and how neurons communicate are crucial pieces of information in solving the puzzle of human behavior and mental processing. 
Richard Griggs, Psychology: A Concise Introduction


a.
Argument; conclusion: To understand our behavior … the neuron.



b.
Argument; conclusion: Humans are biological organisms.



c.
Argument; conclusion: How we feel … neuronal activity.



d.
Argument; conclusion: How a neuron works … mental processing.



e.
Nonargument.


10.
Viruses are acellular entities too small to be seen with a light microscope.  They are composed of a nucleic acid and a few proteins. Viruses replicate themselves and display other properties of living organisms only when they have invaded living cells.  Indeed, some viruses can be crystallized and stored in a container on a shelf for years, but they retain the capacity to invade cells and cause disease.

Jacquelyn C. Black, Microbiology: Principles and Explorations


a.
Argument; conclusion: They are composed of a nucleic acid and a few proteins.


b.
Nonargument.



c.
Argument; conclusion: Viruses are acellular entities … microscope.


d.
Argument; conclusion: Indeed, some viruses can be crystallized … cause disease.


e.
Argument; conclusion: Viruses replicate themselves … invaded living cells.

11.
Harnessing the clean, abundant energy of the sun and wind is critical to solving the global warming problem.  Technological advances have brought the cost of electricity generated by the wind down by 82 percent since 1981.  Solar energy technology has made remarkable progress as new photovoltaic cells have been developed to convert even greater amounts of sunlight directly into electricity.  Today the costs of wind and solar power are becoming competitive with dirty coal-fired plants.

Sierra Club, “Global Warming Solutions”



a.
Argument; conclusion: Today the costs of wind … dirty coal-fired plants.



b.
Argument; conclusion: Technological advances … by 82 percent since 1981.



c.
Argument; conclusion: Harnessing the clean … the global warming problem.



d.
Nonargument.



e.
Argument; conclusion: Solar energy technology … directly into electricity.


12.
It is likely that innocent prisoners in this country have been executed for crimes they did not commit.  From 1973 until 2007, 124 death row inmates have been exonerated.  In many of these cases DNA evidence played a crucial role.  Yet, in that same time frame, more than 1000 prisoners were executed.  For many of these prisoners no DNA evidence was available.  If such evidence had been available, how may more would have been exonerated?



a.
Argument; conclusion: In many of these cases … played a crucial role.



b.
Nonargument. 



c.
Argument; conclusion: From 1973 … have been exonerated.



d.
Argument; conclusion: For many of these prisoners … was available.



e.
Argument; conclusion: It is likely that innocent prisoners … they did not commit.


13.
Some over-the-counter medicines should not be given to very young children.  For example, cold medicines contain decongestants and antihistamines.  These substances raise blood pressure and heart rate.  If an overdose should occur in a young child, the result can be fatal.



a.
Argument; conclusion: Some over-the-counter medicines … very young children.



b.
Argument; conclusion: These substances raise blood pressure and heart rate.



c.
Argument; conclusion: If an overdose … the result can be fatal.



d.
Argument; conclusion: Cold medicines contain decongestants and antihistamines.



e.
Nonargument. 


14.
The world-wide disappearance of frogs may be the result of agricultural runoff.  Scientists have shown that runoff rich in fertilizer causes a pronounced increase in the algae of lakes and ponds.  Snails then gorge themselves on the algae, causing parasites living inside them to produce huge quantities of eggs.  When the eggs hatch, the parasites infect young frogs, causing severe deformation of their limbs.



a.
Nonargument.



b.
Argument; conclusion: Snails then gorge themselves … huge quantities of eggs.



c.
Argument; conclusion: The world-wide disappearance … agricultural runoff.



d.
Argument; conclusion: When the eggs hatch … severe deformation of their limbs.



e.
Argument; conclusion: Scientists have shown … in the algae of lakes and ponds.


15.
Little is known of the Greek physician Hippocrates, who lived around 400 B.C.  Nevertheless, the writings attributed to him have provided a number of principles underlying modern medical practice.  One of his most famous contributions, the Hippocratic Oath, is the foundation of contemporary medical ethics.  It requires the physician to swear that he or she will help the sick, refrain from intentional wrongdoing, and keep confidential all matters pertaining to the doctor-patient relationship.

William C. Cockerham, Medical Sociology


a.
Argument; conclusion: The writings attributed to him … medical practice.



b.
Nonargument.



c.
Argument; conclusion: It requires the physician … doctor-patient relationship.



d.
Argument; conclusion: One of his most famous contributions … medical ethics.



e.
Argument; conclusion: Little is known … who lived around 400 B.C.


16.
Two million children have been killed in armed conflicts in the last decade.  Three times as many have been injured or permanently disabled.  Millions of others have been forced to take part in or witness horrifying acts of violence.  In countless cases the impact of armed conflict on children’s lives remains invisible.  The children themselves may be removed from the public, in institutions, or survive as victims of prostitution.  But those who have lost parents often experience humiliation, rejection and discrimination, and suffer in silence as their self-esteem crumbles.

Child Rights Information Network



a.
Nonargument. 



b.
Argument; conclusion: Two million children … in the last decade.



c.
Argument; conclusion: But those who have lost parents … self-esteem crumbles.



d.
Argument; conclusion: In countless cases … remains invisible.



e.
Argument; conclusion: Three times as many … permanently disabled.


17.
An element is a collection of atoms of the same type.  Each atom contains three fundamental particles—a proton, a neutron, and an electron.  The protons and neutrons are in the center, or nucleus, of the atom.  Protons have a positive charge, while neutrons have no electric charge.  The electrons have a negative charge and orbit about the nucleus at a specific distance. 
Edward F. Albin, Earth Science Made Easy


a.
Argument; conclusion: An element is a collection of atoms of the same type.



b.
Argument; conclusion: The electrons have a negative charge … specific distance.



c.
Nonargument.



d.
Argument; conclusion: Each atom contains … an electron.



e.
Argument; conclusion: The protons and neutrons … of the atom.


II.
The following problems relate to identifying and evaluating inductive and deductive arguments.  Select the best answer for each.

18.
If the Big Bang theory is correct, then the universe is billions of years old.  And if the Big Bang theory is correct, then the universe was not created in six days.  Thus, if the universe is billions of years old, then it was not created in six days.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Inductive, cogent.



d.
Inductive, weak.



e.
Deductive, invalid.

19.
The engraved plate beneath this painting in the art museum says “Monet.”  Therefore, the painting must be the work of Monet.



a.
Inductive, cogent.



b.
Inductive, weak.



c.
Deductive, valid.



d.
Inductive, strong.



e.
Deductive, invalid.

20.
Canada is similar in many ways to the United States.  Both countries share the same language, values, and a free market economy.  Also, they share a common border.  Therefore, the Canadian flag must look a lot like the U.S. flag.



a.
Inductive, weak.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Deductive, sound.



e.
Deductive, valid.

21.
Either Bill Clinton or George W. Bush was president when the World Trade Center towers were destroyed.  But Bush was not president at that time.  Therefore, Bill Clinton was president when those buildings were destroyed.



a.
Inductive, invalid.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Inductive, strong.



e.
Inductive, weak.

22.
As the universe expands, it gets colder and colder.  Furthermore, this expansion will continue for ever and ever.  Therefore, at some point in the future the universe will become too cold to support human life, and all humans will perish.



a.
Deductive, invalid.



b.
Deductive, valid.



c.
Deductive, sound.



d.
Inductive, strong.



e.
Inductive, weak.

23.
No drug cartels are legal operations, so no legal operations are enterprises that engage in smuggling, because all drug cartels are enterprises that engage in smuggling.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Inductive, weak.



d.
Deductive, sound.



e.
Deductive, invalid.

24.
Given that x2 + 2x = 15.  It follows that x = 3.



a.
Inductive, strong.



b.
Inductive, weak.



c.
Deductive, valid.



d.
Inductive, cogent.



e.
Deductive, invalid.

25.
Graffiti painted on that vacant building says “Boycott Meat.”  Therefore, it’s clear that we should all become vegetarians.



a.
Deductive, sound.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Deductive, valid.



e.
Inductive, strong.

26.
James Bloomfield, the widely respected expert on art authentication, says that the painting recently discovered in the basement of the art museum is a genuine Picasso.  Therefore, we conclude that the painting is indeed a genuine Picasso.



a.
Deductive, invalid.



b.
Inductive, weak.



c.
Deductive, valid.



d.
Inductive, cogent.



e.
Inductive, strong.

27.
Astrological calculations indicate that the U.S. stock market will crash in the year 2018.  Therefore, you should get your money out of the market before that year.



a.
Inductive, cogent.



b.
Deductive, valid.



c.
Inductive, weak.



d.
Deductive, invalid.



e.
Inductive, strong.

28.
If organic food contains pesticides, then consumers are misled.  Organic food does not contain pesticides.  Therefore, consumers are not misled.



a.
Inductive, weak.



b.
Inductive, strong.



c.
Deductive, valid.



d.
Deductive, invalid.



e.
Deductive, sound.

29.
When Jack took his car in for service, the mechanic charged him for lots of work that didn’t need to be done.  The same thing happened to Niki and Claire.  Apparently mechanics these days are just a bunch of crooks.



a.
Inductive, strong.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Deductive, valid.



e.
Deductive, sound.

30.
All aerobic exercises are calorie burners and all calorie burners are weight reducers.  Thus, all aerobic exercises are weight reducers.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Inductive, strong.



e.
Inductive, cogent.

31.
After hearing Jordan’s speech in the student council, Michael rolled his eyes and shook his head.  Apparently Michael didn’t agree with what Jordan said.



a.
Deductive, valid.



b.
Deductive, sound.



c.
Deductive, invalid.



d.
Inductive, weak.



e.
Inductive, strong.

32.
Brandon is a polytheist.  Therefore, he believes in more than one god.



a.
Inductive, cogent.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Deductive, valid.



e.
Inductive, strong.

33.
Given that figure A is a triangle, and one of its sides has a length of 1 foot.  It follows that its area is less than 1 square foot.



a.
Inductive, weak.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Deductive, sound.



e.
Inductive, strong.

34.
After buying a pair of Blue Atlas jeans, Carter was disappointed to find that they fell apart after only one month.  The same think happened to Jeff, Mario, and Ralph.  Apparently Blue Atlas jeans don’t hold up very well.



a.
Inductive, strong.



b.
Inductive, cogent.



c.
Deductive, invalid.



d.
Inductive, weak.



e.
Deductive, valid.

III.
The following problems relate to the counterexample method.


35.
Some cashmere sweaters are fashionable garments, so some cashmere sweaters are not suede jackets, for some suede jackets are not fashionable garments.



Which of the following correctly expresses the form of this argument? 



a.
Some C are F.

b.
Some S are not F.
c.
Some S are not F.




Some C are not S.


Some C are F.


Some C are not S.



Some S are not F.

Some C are not S.

Some C are F.



d.
Some F are not S.
e.
Some C are F.




Some F are C.


Some F are not S.



Some S are not C.

Some C are not S.

36.
Which of the following substitutions proves the argument in Problem 35 invalid?



a.
C = animals, F = cats, S = mammals.



b.
C = dogs, F = animals, S = mammals.



c.
C = dogs, F = mammals, S = fish.



d.
C= mammals, F = animals, S = dogs.



e.
C = cats, F = mammals, S = animals.


37.
If mobile phone services monitor text messages, then freedom of speech is threatened.  Thus, freedom of speech is not threatened, because mobile phone services do not monitor text messages.



Which of the following correctly expresses the form of this argument?



a.
If M then F.
b.
Not F.

c.
All M are F.
d.
If M then F.
e.
If M then F.




M.


Not M.

M

Not M


Not F.




F.


If M then F.

F

Not F


Not M.


38.
Which of the following substitutions proves the argument in Problem 37 invalid?



a.
M = Abraham Lincoln was assassinated, F = George Washington was assassinated.



b.
M = Joe Smith was beheaded, F= Joe Smith is dead.



c.
M = Abraham Lincoln was beheaded, F = Abraham Lincoln is dead.



d.
M = Abraham Lincoln was assassinated, F = Abraham Lincoln is dead.



e.
M = Abraham Lincoln was beheaded, F = Abraham Lincoln is not dead.


39.
All container ships that are ocean going are air polluters.  Hence, all container ships are air polluters.



Which of the following correctly expresses the form of this argument?



a.
All C are A.


b.
All C are A.



c.
All CS are O.



All C are O.



All C that are O are A.

All CS are A.



d.
All C are O


e.
All C that are O are A.



All C are A.


All C are A.

40
.
Which of the following substitutions proves the argument in Problem 39 invalid?



a.
C = husbands, O = married, A = men.



b.
C = men, O = humans, A = mammals.



c.
C = men, O = married, A = husbands.



d.
C = wives, O = divorced, A = women.



e.
C = cats, O = animals, A = dogs.

IV.
Select the correct answer for the following multiple choice questions.

41.
Which of the following are all premise indicators?



a.
For, because, consequently.



b.
Inasmuch as, thus, Accordingly.



c.
Consequently, hence, thus.



d.
Since, given that, because.



e.
Given that, for the reason that, wherefore.


42.
Which of the following are all arguments?



a.
Illustrations, syllogisms, explanations.



b.
Predictions, categorical syllogisms, arguments from signs.



c.
Warnings, conditional statements, statements of belief.



d.
Expository passages, reports, pieces of advice.



e.
Propositions, analogies, inferences.

43.
Which of the following are all deductive arguments?



a.
Hypothetical syllogisms, disjunctive syllogisms, arguments based on mathematics.



b.
Generalizations, predictions, causal inferences.



c.
Arguments from authority, disjunctive syllogisms, predictions.



d.
Arguments from authority, generalizations, Arguments from analogy.



e.
Arguments based on signs, causal inferences, arguments in science.


44.
An argument whose conclusion rests on some geometrical procedure is:



a.
A strong argument.



b.
An inductive argument.



c.
A deductive argument.



d.
A valid argument.



e.
A sound argument.


45.
An argument whose conclusion rests on a similarity between two things or situations is:



a.
A valid argument.



b.
An inductive argument.



c.
A sound argument.



d.
A cogent argument.



e.
A deductive argument.

46.
In the expression “The moon sends forth light because it reflects light from the sun,” the statement “The moon sends forth light” is called the:



a.
Explanandum.



b.
Consequent.



c.
Explanans.



d.
Conclusion.



e.
Premise.

47.
In the expression “If a nation engages in torture, then it loses moral authority in the world community,” the statement “A nation engages in torture” is called the: 



a.
Conclusion.



b.
Consequent.



c.
Conditional.



d.
Explanandum.



e.
Antecedent.


48.
Which of the following is a sufficient condition for committing a crime?



a.
Having a good lawyer.



b.
Going to jail.



c.
Avoiding the police.



d.
Robbing a bank.



e.
Signing a confession.


49.
Which of the following is a necessary condition for playing baseball?



a.
Being able to run the bases faster than the other players.



b.
Being able to catch a fly ball.



c.
Having a bat.



d.
Being able to steal a base.



e.
Having an umpire.


50.
If a deductive argument has one true premise and a true conclusion, then we know: 



a.
Nothing as such about the argument’s validity.



b.
The argument is invalid.



c.
The argument is valid.



d.
The argument is weak.



e.
The argument is uncogent.

Logic






Name:______________________________

Chapter 1 Test B

Each question is worth 2 points.  Write your answer on the form provided.  Erasure marks may cause the grading machine to mark your answer wrong.

I.
The following selections relate to distinguishing arguments from nonarguments and identifying conclusions.  Select the best answer for each.


1.
Authoritarian states are characterized by strong central governments that fairly stringently limit the range of political activity.  More often than not, they are one-party states, which means that only one party, that which supports the government, is allowed to engage in political activity.  Free discussion and association are strictly curtailed in these systems.  Anyone who might dare to criticize the government or to express ideas that are not in conformity with its policies can be severely punished, even by death.

Robert A. Heineman, Political Science


a.
Argument; conclusion: More often than not … engage in political activity.



b.
Nonargument.



c.
Argument; conclusion: Authoritarian states … limit the range of political activity.



d.
Argument; conclusion: Anyone who might dare to criticize … even by death.



e.
Argument; conclusion: Free discussion and association … in these systems.


2.
Prior to their extinction, Neanderthals had been widespread in Europe for 100,000 years.  Then 50,000 years ago, modern humans moved into Europe from Africa.  Twenty-six thousand years after that the last Neanderthal died.  At one time it was thought that the Neanderthals were killed by climate change, but this theory has now been discounted.  So why did the Neanderthals perish?  Probably they were killed by the humans.



a.
Argument; conclusion: Then 50,000 years ago … Europe from Africa.



b.
Argument; conclusion: At one time it was thought … now been discounted.



c.
Argument; conclusion: Prior to their extinction … 100,000 years.



d.
Nonargument. Twenty-six thousand years after that the last Neanderthal died.



e.
Argument; conclusion: Probably they were killed by the humans.


3.
Hair turns color when we age because the follicles at the base of the hair shaft cease to produce melanin.  Melanin is a chemical that gives the hair shaft its color (black, brown, blond, red, and all shades in between).  The darkness or lightness of your hair depends on how much melanin each strand contains.  With age, the cells in the follicle that produce melanin die off.  As they do so, that hair strand will become silver, grey, or white, as it grows. 



a.
Argument; conclusion: The follicles … cease to produce melanin.



b.
Argument; conclusion: Hair turns color when we age.



c.
Argument; conclusion: With age, the cells in the follicle … die off.



d.
Nonargument.



e.
Argument; conclusion: The darkness or lightness … each strand contains.


4.
Evolution as a process that has always gone on in the history of the earth can be doubted only by those who are ignorant of the evidence or are resistant to evidence, owing to emotional blocks or to plain bigotry.  By contrast, the mechanisms that bring evolution about certainly need study and clarification.  There are no alternatives to evolution as history that can withstand critical examination.  Yet we are constantly learning new and important facts about evolutionary mechanisms.

Theodosius Dobzhansky, “Nothing in Biology Makes Sense Except in the Light of Evolution”



a.
Nonargument. 



b.
Argument; conclusion: By contrast, the mechanisms … study and clarification.



c.
Argument; conclusion: Yet we are constantly … evolutionary mechanisms.



d.
Argument; conclusion: Evolution as a process … blocks or to plain bigotry.



e.
Argument; conclusion: There are no alternatives … critical examination.


5.
Scientists have recently shown that heaps of intact DNA from the extinct wooly mammoth are retrievable from the animals’ fur.  A great deal of that fur is readily available in natural history museums.  Such amounts of DNA make it possible to piece together the entire mammoth genome.  Hence, we can expect to see mammoth clones in the not too distant future.



a.
Argument; conclusion: A great deal of that fur … natural history museums.



b.
Nonargument.



c.
Argument; conclusion: Scientists have recently shown … animals’ fur.



d.
Argument; conclusion: We can expect to see … in the not too distant future. 



e.
Argument; conclusion: Such amounts of DNA … the entire mammoth genome.


6.
The loss of arctic ice is accelerating as a result of a form of positive feedback.  As arctic ice melts, the arctic icecap reflects fewer rays from the sun.  When this happens, more rays are absorbed by the surrounding ocean, which increases its temperature.  As the temperature of the ocean rises, more arctic ice melts. 



a.
Argument; conclusion: When this happens … which increases its temperature.



b.
Argument; conclusion: As the temperature of the ocean rises … ice melts.



c.
Argument; conclusion: The loss of arctic ice … positive feedback. 



d.
Nonargument.



e.
Argument; conclusion: As arctic ice melts … fewer rays from the sun.


7.
If its ion engine operates as planned, its huge solar panel remains deployed and undamaged, and its xenon energy source is not exhausted, then the Dawn spacecraft will reach both Vesta and Ceres (large asteroids in the belt between Mars and Jupiter), and scientists will gather information about the formation of planets, whether Ceres has a buried ocean of fresh water, and whether vestiges of life lurk beneath its icy surface.



a.
Argument; conclusion: Its ion engine operates … not exhausted.



b.
Argument; conclusion: The Dawn spacecraft … Mars and Jupiter)



c.
Argument; conclusion: The Dawn spacecraft … beneath its icy surface.



d.
Argument; conclusion: Scientists will gather information … formation of planets.



e.
Nonargument.


8.
To focus on the performance of the stock market is to zero in on an economic indicator that can do well even as the country does poorly.  In 2006, for instance, the Dow Jones industrial average hit highs.  According to the just released census data, however, median earnings fell one percent, and millions more Americans entered the ranks of the uninsured.  Indeed, from 2000 to 2007 the S&P 500 gained more than 500 points.  Meanwhile, the median household income fell by more than $900. 

Ezra Klein, “Stock Split”



a.
Argument; conclusion: According to the just released … ranks of the uninsured.



b.
Argument; conclusion: To focus on the performance … the country does poorly. 



c.
Argument; conclusion: In 2006, for instance, the Dow Jones … hit highs.



d.
Argument; conclusion: Meanwhile … fell by more than $900.



e.
Nonargument.


9.
The earth is divided into the crust, the mantle, and the core.  The crust is the solid portion on which we stand.  The mantle is a plastic but solid material under the crust that can flow and move about.  And finally, the core is the innermost part of the earth made of solid and molten iron.

Pam Walker and Elaine Wood, Hands-On General Science Activities


a.
Argument; conclusion: The mantle … flow and move about.



b.
Argument; conclusion: The crust is the solid portion on which we stand.



c.
Nonargument.



d.
Argument; conclusion: The core is the innermost part … molten iron.



e.
Argument; conclusion: The earth is divided into the crust, the mantle, and the core.


10.
The relationship between two measurable factors can be represented by a graph.  If both values increase, they are considered to have a direct relationship.  For example, the more you work, the more money you make.  If one value increases while the other decreases, they have an inverse relationship.  For example, the more you work on your golf swing, the lower your score will be.

Scott Ryan, Earth Science


a.
Nonargument. 



b.
Argument; conclusion: If one value increases … an inverse relationship.



c.
Argument; conclusion: The relationship … can be represented by a graph.



d.
Argument; conclusion: For example, the more you work … money you make.



e.
Argument; conclusion: If both values increase … direct relationship.


11.
Scientists may be on the verge of creating life in a test tube.  Recently, scientists have used computers to synthesize a highly complex loop of DNA.  When this loop was inserted into an empty bacterial cell, the cell began to self-replicate.  And self-replication is an essential feature of life.



a.
Argument; conclusion: When this loop was inserted … began to self-replicate.


b.
Argument; conclusion: Recently, scientists have used computers … loop of DNA.


c.
Nonargument.



d.
Argument; conclusion: Scientists may be on the verge … life in a test tube.


e.
Argument; conclusion: And self-replication is an essential feature of life.

12.
Good intentions aside, there are compelling reasons to avoid water fluoridation.  Hydrofluosilic acid, the industrial waste product used in municipal water systems, is contaminated with arsenic, lead, and other heavy metals.  There are significant increases in lead levels in children who drink fluoridated water.  A 2012 Harvard study found a fivefold to sevenfold increase in bone cancer in exposed young men.  Sadly, the youngest children are the most susceptible.
David S. Banks, Letter to the Editor



a.
Argument; conclusion: Hydrofluosilic acid … and other heavy metals.



b.
Argument; conclusion: Sadly, the youngest children are the most susceptible.



c.
Argument; conclusion: There are compelling reasons to avoid water fluoridation.



d.
Argument; conclusion: There are significant increases … fluoridated water.



e.
Nonargument.


13.
While there is no technology to reduce CO2 from a car’s exhaust, we can make cars pollute less by making them more fuel efficient.  By using today’s best technology, car makers could dramatically increase the fuel economy of their cars and trucks.  In fact, off-the-shelf technology can change the nation’s best selling SUV, the Ford Explorer, from a 19 mpg gas guzzler to an efficient 34 mpg vehicle.  If we are to make any progress in slowing global warming, we must make our cars go farther on a gallon of gas.

Sierra Club, “Global Warming Solutions”



a.
Argument; conclusion: While there is no technology … more fuel efficient.



b.
Nonargument.



c.
Argument; conclusion: In fact, off-the-shelf technology … 34 mpg vehicle.



d.
Argument; conclusion: By using today’s best technology … cars and trucks.



e.
Argument; conclusion: If we are to make any progress … a gallon of gas.


14.
Developing an AIDS vaccine is not impossible, as some skeptics claim.  Research suggests that the human immune system is better at fighting HIV than was originally thought.  Most of those infected suppress the virus for years without developing AIDS.  A small number never contract the virus despite repeated exposures.  If we can figure out the mechanism that accounts for this, we’ll have clues about how to engineer a vaccine.

Seth Berkley, “Don’t Quit on an AIDS Vaccine”



a.
Argument; conclusion: If we can figure out the mechanism … engineer a vaccine.



b.
Nonargument.



c.
Argument; conclusion: Most of those infected … without developing AIDS.



d.
Argument; conclusion: Research suggests … than was originally thought.



e.
Argument; conclusion: Developing an AIDS vaccine … skeptics claim.


15.
Geology can be divided into two major time-related disciplines: physical geology and historical geology.  Physical geology is the study of the materials the planet is composed of and the present day processes that operate on the surface and within the earth’s deeper layers.  Historical geology is the study of the earth’s 4.6 billion year history, its formation, development, and evolution.  Historical geologists strive to create a time-line of events that have occurred since the earth’s formation.

Alan D. Sills, Earth Science the Easy Way


a.
Nonargument.



b.
Argument; conclusion: Historical geologists … since the earth’s formation.



c.
Argument; conclusion: Physical geology … the earth’s deeper layers.



d.
Argument; conclusion: Geology can be divided … historical geology.



e.
Argument; conclusion: Historical geology … development, and evolution.


16.
Nicotine is addictive because its chemical structure is so similar to the neurotransmitter acetylcholine that once inside the brain it unlocks several other chemicals.  One of these chemicals is dopamine, which produces a highly pleasant sensation.  Another is adrenaline, which increases alertness.  Yet a third is serotonin, which improves one’s mood.  When people are deprived of these chemicals, they naturally want more, and this leads to addiction.



a.
Argument; conclusion: When people are deprived … leads to addiction.



b.
Argument; conclusion: Nicotine is addictive.



c.
Argument; conclusion: One of these chemicals is dopamine … pleasant sensation.



d.
Nonargument.



e.
Argument; conclusion: Its chemical structure … unlocks several other chemicals.


17.
For awhile, during the 1990s, it looked as though the loggerhead sea turtle might be making a comeback.  But a new federal report suggests that loggerheads have begun to decline again.  Their life-pattern makes them doubly vulnerable to humans.  They lay their eggs on beaches, habitat vulnerable to development and disturbance, and they spend their long lives at sea, where they are often fouled in fishing nets.

Newspaper editorial



a.
Argument; conclusion: But a new federal report … begun to decline again.



b.
Nonargument.



c.
Argument; conclusion: Their life-pattern … doubly vulnerable to humans.



d.
Argument; conclusion: For awhile, during the 1990s … making a comeback.



e.
Argument; conclusion: They lay their eggs … fouled in fishing nets.


II.
The following problems relate to identifying and evaluating inductive and deductive arguments.  Select the best answer for each.


18.
After examining DNA evidence found at the crime scene, Dr. Jacobs, a highly qualified forensic biologist, says that Alex Foster could not have committed the crime.  Therefore, we conclude that Foster is innocent.



a.
Inductive, weak.



b.
Deductive, sound.



c.
Deductive, invalid.



d.
Deductive, valid.



e.
Inductive, strong.


19.
Some preachers are evangelists, so some preachers are TV personalities, since some evangelists are TV personalities.



a.
Inductive, weak.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Deductive, sound.



e.
Deductive, valid.


20.
The poster on your neighbor’s lawn says “Vote Horton for Sheriff.”  Therefore, it’s clear that Horton would make a great sheriff.



a.
Inductive, sound.



b.
Inductive, strong.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Deductive, invalid.


21.
After drinking a bottle of Black Diamond Special Brew, Clyde noticed a slightly bitter aftertaste.  Lauren and Nicole noticed the same thing when they drank some Black Diamond a year earlier.  We conclude that every bottle of Black Diamond Special Brew has a slightly bitter after taste.



a.
Inductive, weak.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Inductive, cogent.


22.
Either Michelle Pfeiffer or Martha Stewart is a popular film star.  But Michele Pfeiffer is not a film star at all.  Therefore, Martha Stewart is a popular film star.



a.
Deductive, valid.



b.
Inductive, weak.



c.
Deductive, cogent.



d.
Deductive, invalid.



e.
Inductive, strong.


23.
Given that A and B are the diagonals of a parallelogram.  It follows that A and B have the same length.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Deductive, sound.



d.
Inductive, weak.



e.
Deductive, invalid.


24.
Jim Searcy, a religious prophet who now lives in Cypress, claims that the Prince of Wales is the Antichrist.  Therefore, we must conclude that the Prince of Wales is up to no good.



a.
Inductive, weak.



b.
Deductive, invalid.



c.
Deductive, sound.



d.
Deductive, valid.



e.
Inductive, strong.


25.
If football is a rough sport, then football injuries abound.  It is the case that football injuries abound.  Thus, it follows that football is a rough sport.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Deductive, valid.



e.
Inductive, uncogent.


26.
A divining rod is a magical device for detecting hidden water, metal, and gemstones.  Your friend Roger is using his divining rod on the beach right now.  Therefore, he’ll likely find some diamonds buried beneath the sand.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Inductive, weak.



e.
Deductive, unsound.


27.
After smoking only a few cigarettes per day, Krista became addicted within two months.  The same thing happened to Dave, Jean, and Marty.  Therefore, since Dennis has been smoking a few cigarettes per day for the past two months, he’s probably addicted, too.



a.
Deductive, invalid.



b.
Deductive, valid.



c.
Inductive, weak.



d.
Inductive, cogent.



e.
Inductive, strong.


28.
Natalie is a kleptomaniac.  Therefore, she has a compulsion to steal things.



a.
Deductive, valid.



b.
Inductive, weak.



c.
Inductive, cogent.



d.
Inductive, strong.



e.
Deductive, invalid.


29.
Lydia loves Ryan, and Ryan loves anchovy pizza.  Therefore, it follows necessarily that Lydia loves anchovy pizza.



a.
Deductive, sound.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Inductive, strong.



e.
Inductive, weak.


30.
After investing in the stock market, Pamela doubled her money in just two years, and Beth and Tiffany did the same thing.  However, Greg, Ivan, and Marty all lost money on the stock market during the same time frame.  The obvious conclusion is that women do better than men in the stock market.



a.
Inductive, strong.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Deductive, unsound.



e.
Deductive, valid.


31.
Andrew is lighter than Carl, and Carl is heavier than Marty.  Therefore, it follows necessarily that Andrew is lighter than Marty.



a.
Inductive, strong.



b.
Deductive, valid.



c.
Inductive, weak.



d.
Deductive, invalid.



e.
Deductive, sound.


32.
The arctic ice cap has been shrinking for several years as a result of climate change, and that trend is expected to continue.  Therefore, since arctic polar bears depend on that ice for survival, the arctic polar bear population will shrink in the years ahead.



a.
Inductive, weak.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Inductive, uncogent.


33.
If Ken Burns makes historical documentaries, then he enhances our knowledge of the past.  Ken Burns does make historical documentaries.  Therefore he enhances our knowledge of the past.



a.
Deductive, valid.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Inductive, strong.



e.
Deductive, cogent.


34.
During the past 80 years, the number of Model T Fords on the highway has steadily fallen while the number of deaths from lung cancer has steadily risen.  Thus, to reduce the number of deaths from lung cancer we should bring back the Model T Ford.



a.
Deductive, invalid.



b.
Inductive, weak.



c.
Deductive, valid.



d.
Inductive, strong.



e.
Inductive, cogent.

III.
The following problems relate to the counterexample method.


35.
No brass lanterns are fixtures that glitter because all crystal chandeliers are fixtures that glitter, and no brass lanterns are crystal chandeliers.


Which of the following correctly expresses the form of this argument?



a.
No B are F.
b.
No B are F.
c.
No B are C.
d.
All F are C.
e.
All C are F.




No B are C.

All C are F.

No B are F.

No C are B.

No B are C.



All F are C.

No B are C.

All C are F.

No B are F.

No B are F.


36.
Which of the following substitutions proves the argument in Problem 35 invalid? 



a.
C = cats, F = fish, B = animals.



b.
C = dogs, F = fish, B = mammals.



c.
C = cats, F = animals, B = dogs.



d.
C = animals, F = mammals, B = fish.



e.
C = dogs, F = mammals, B = animals.


37.
If music pirating continues, then property rights are ignored.  Thus, if property rights are ignored, then recording artists will be cheated, because if music pirating continues, then recording artists will be cheated.


Which of the following correctly expresses the form of this argument?



a.
If M then P.
b.
If P then R.

c.
If R then M.
d.
If M then P.
e.
If R then P.




If P then R.

If M than P.

If P then M.

If M then R.

If M then P.



If M then R.

If M then R.

If P then R.

If P then R.

If M then R.


38.
Which of the following substitutions proves the argument in Problem 37 invalid? 



a.
M = Neil Armstrong has walked on the moon, P = Neil Armstrong is a human, R = Neil Armstrong is an astronaut.



b.
M = Paris Hilton has walked on the moon, P = Paris Hilton is a human, R = Paris Hilton is an astronaut.



c.
M = Britney Spears makes CDs, P = Britney Spears is a singer, R = Britney Spears is a human.



d.
M = Nicole Kidman programs computers, P = Ben Affleck sells fertilizer,  R = Jennifer Lopez raises elephants.



e.
M = Brad Pitt stars in movies, P = Brad Pitt is an actor, R = Brad Pitt is a human.


39.
Some playoff games are heartbreakers, since all playoff games are either heartbreakers or occasions for glee.



Which of the following correctly expresses the form of this argument?



a.
All P are either H or O.

b.
Some P are H.


c.
All P are either H or O.



Some P are H.




All P are either H or O.
Some PG are H.



d.
All P are H.



e.
All PG are either H or O.



Some P are either H or O.

Some G are H.


40.
Which of the following substitutions proves the argument in Problem 39 invalid? 



a.
P = fish, H = animals, O = mammals.



b.
P = dogs, H = cats, O = fish.



c.
P = dogs, H = fish, O = animals.



d.
P = male, G = dogs, H = animals, O = fish.



e.
P = women, H = humans, O = doctors.

IV.
Select the correct answer for the following multiple choice questions.


41.
Which of the following are all nonarguments?



a.
Illustrations, predictions, warnings.



b.
Expository passages, opinions, generalizations.



c.
Syllogisms, predictions, expository passages.



d.
Opinions, illustrations, causal inferences.



e.
Conditional statements, explanations, statements of belief.


42.
Which of the following are all inductive arguments? 



a.
Arguments from authority, arguments from analogy, causal inferences.



b.
Causal inferences, hypothetical syllogisms, predictions.



c.
Generalizations, arguments from authority, arguments from definition. 



d.
Hypothetical syllogisms, arguments from definition, disjunctive syllogisms.



e.
Categorical syllogisms, arguments from authority, arguments based on signs.


43.
Which of the following are all conclusion indicators?



a.
As a result, it follows that, given that.



b.
Accordingly, because, as indicated by.



c.
Given that, for, seeing that.



d.
Hence, thus, so.



e.
Thus, implies that, because.


44.
In the expression, “Carbon monoxide is poisonous because it prevents hemoglobin from supplying oxygen to the body,” the statement “Carbon monoxide is poisonous” is called the: 



a.
Conclusion.



b.
Explanandum.



c.
Antecedent.



d.
Explanans.



e.
Consequent.


45.
In the expression “If electric cars become popular, then the price of gasoline will drop,” the statement “Electric cars become popular” is called the: 



a.
Consequent.



b.
Premise.



c.
Antecedent.



d.
Explanans.



e.
Conditional.


46.
An argument that proceeds from knowledge of an effect to a claim about a cause is:



a.
A sound argument.



b.
A strong argument.



c.
An uncogent argument.



d.
An inductive argument.



e.
A deductive argument.


47.
An argument that applies a scientific law to a specific case is usually:



a.
A cogent argument.



b.
An inductive argument.



c.
A strong argument.



d.
An invalid argument.



e.
A deductive argument.


48.
If a deductive argument has all false premises and a true conclusion, then we know:



a.
The argument is invalid.



b.
The argument is valid.



c.
Nothing as such about the argument’s validity.



d.
The argument is sound.



e.
The argument is uncogent.


49.
Which of the following is a necessary condition for graduating from college?



a.
Fulfilling the course requirements.



b.
Attending the graduation ceremony.



c.
Receiving gifts from family members.



d.
Showing up for all your classes.



e.
Wearing a cap and gown.


50.
Which of the following is a sufficient condition for winning an election? 



a.
Appealing to the voters.



b.
Getting more than half the votes.



c.
Staying alive until all the votes are counted.



d.
Running an honest campaign.



e.
Having adequate funding.

Logic






Name:______________________________

Chapter 1 Test C

Each question is worth 2 points.  Write your answer on the form provided.  Erasure marks may cause the grading machine to mark your answer wrong.

I.
The following selections relate to distinguishing arguments from nonarguments and identifying conclusions.  Select the best answer for each.


1.
Incandescent light bulbs eventually burn out because the high temperature of the filament causes tungsten atoms to fly off and collect on the inside of the bulb’s glass.  This loss of tungsten is slowed, but not prevented, by introducing argon inside the bulb’s envelope.  As more and more atoms are lost, the filament disintegrates.  When this happens, no electricity flows through the filament, and the bulb produces no light.



a.
Argument; conclusion: Incandescent light bulbs eventually burn out.



b.
Argument; conclusion: The high temperature of the filament … the bulb’s glass.



c.
Argument; conclusion: The filament disintegrates.



d.
Argument; conclusion: When this happens … the bulb produces no light.



e.
Nonargument.


2.
The consequences of violence for children are very often grave and damaging.  Violence may result in greater susceptibility to lifelong social, emotional and cognitive impairments.  Related mental health and social problems include anxiety and depressive disorders, hallucinations, impaired work performance, memory disturbances and aggressive behavior.  Early exposure to violence is also associated with later lung, heart and liver disease, fetal death during pregnancy, and suicide attempts.

Paulo Sergio Pinheiro, Report of the Independent Expert on violence Against Children


a.
Argument; conclusion: Violence may result … cognitive impairments.



b.
Argument; conclusion: Related mental health … aggressive behavior.



c.
Argument; conclusion: Early exposure to violence … suicide attempts.



d.
Argument; conclusion: The consequences of violence … grave and damaging.



e.
Nonargument. 


3.
Finding an identity as a Latino is a tricky issue in the United States because the pressure to assimilate is being repressed by the pressure to retain your roots.  If you are deemed too assimilated into American culture, you are branded a “gringo” by your peers or even a turncoat to your blood and country.  If you shun all American culture, you are branded as a freeloading malcontent who would be better off going back to where he came from.  It is a lose-lose situation.

Mario Feirro, Letter to the editor



a.
Argument; conclusion: Finding an identity … in the United States. 



b.
Nonargument.



c.
Argument; conclusion: If you are deemed too assimilated … blood and country.



d.
Argument; conclusion: If you shun all American culture … where he came from.



e.
Argument; conclusion: The pressure to assimilate … retain your roots.


4.
A crystal is a form of mineral that has grown in an orderly and symmetrical manner.  When broken, it naturally divides into a common shape based on its structure.  Crystals are the result of the atomic arrangement of atoms as they grow in a shape that can be duplicated many times.  Crystals are made up of molecules that fit neatly together in an orderly way.  All crystals of the same material have the same shape. 
Edward F. Albin, Earth Science Made Easy


a.
Argument; conclusion: Crystals are the result … duplicated many times.



b.
Argument; conclusion: When broken, it naturally divides … its structure.



c.
Nonargument.



d.
Argument; conclusion: All crystals of the same material have the same shape.



e.
Argument; conclusion: A crystal is a form of mineral … symmetrical manner.


5.
Karl Marx believed that the key to human history was class conflict.  According to Marxist theory, the bourgeoisie are locked in inevitable conflict with the proletariat.  This bitter struggle can end only when members of the working class unite in revolution and throw off their chains of bondage.  The result will be a classless society, one free of exploitation, in which everyone will work according to their abilities and receive according to their needs.

James M. Henslin, Essentials of Sociology


a.
Argument; conclusion: According to Marxist theory … with the proletariat.



b.
Nonargument.



c.
Argument; conclusion: This bitter struggle can end … their chains of bondage.



d.
Argument; conclusion: The result will be a classless society … to their needs.



e.
Argument; conclusion: Karl Marx believed … class conflict.


6.
In general, whoever produces or distributes child pornography is subject to prosecution.  But that rule is not absolute.  For example, in 2002 the Supreme Court ruled that computer generated child porn is protected under the First Amendment.  The Court reasoned that such pornography was permissible because no real children are exploited.



a.
Argument; conclusion: In general, whoever produces … subject to prosecution.



b.
Nonargument.



c.
Argument; conclusion: That rule is not absolute.



d.
Argument; conclusion: The Court reasoned … no real children are exploited.



e.
Argument; conclusion: In 2002 the Supreme Court … First Amendment.


7.
The three main parts of a neuron are the dendrites, cell body, and axon.  The dendrites receive information from other neurons and pass it along to the cell body.  The cell body decides whether the information should be passed on to other neurons.  If it decides it should, then it does so by means of an electrical impulse that travels down the axon.  When the impulse reaches the axon terminals, it triggers chemical communication with other neurons. 
Richard Griggs, Psychology: A Concise Introduction


a.
Argument; conclusion: The cell body decides … to other neurons.



b.
Argument; conclusion: The three main parts … and axon.



c.
Argument; conclusion: The dendrites … along to the cell body.



d.
Nonargument.



e.
Argument; conclusion: When the impulse reaches … with other neurons.


8.
Computerized scanning equipment has revolutionized the study of brain diseases and injuries.  At best, conventional X-rays produce only shadowy images of the brain.  Computed tomographic (CT) scanning is a specialized type of X-ray that does a much better job of making the brain visible.  In a CT scan, X-ray information is collected by a computer and formed into an image of the brain.  A CT scan can reveal the effects of strokes, injuries, tumors, and other brain disorders. 
Dennis Coon and John O. Mitterer, Psychology: A Journey


a.
Nonargument.



b.
Argument; conclusion: A CT scan can reveal … other brain disorders.



c.
Argument; conclusion: At best, conventional X-rays … images of the brain.



d.
Argument; conclusion: Computed tomographic (CT) scanning … brain visible.



e.
Argument; conclusion: Computerized scanning equipment … and injuries.


9.
If you go to foreign films, if you go to documentaries, if you go to independent films, if you go to good films, you will become a better person because you will understand human nature better.  Movies record human nature in a better way than any other art form.  That’s for sure.

Roger Ebert



a.
Argument; conclusion: That’s for sure.



b.
Nonargument.



c.
Argument; conclusion: If you go to foreign films … a better person.



d.
Argument; conclusion: You will understand human nature better.



e.
Argument; conclusion: Movies record human nature … any other art form.


10.
If people buy cars that are more efficient, replace large appliances with energy efficient ones, unplug unused freezers and refrigerators, replace incandescent light bulbs with compact fluorescent models, and plant trees on private property and public land, then millions of tons of heat-trapping gasses will be kept out of the atmosphere, the current level of these gasses will be reduced, and the catastrophic consequences of global warming will be averted.



a.
Argument; conclusion: People buy cars … private property and public land.



b.
Nonargument.



c.
Argument; conclusion: Millions of tons … out of the the atmosphere.



d.
Argument; conclusion: The catastrophic consequences … will be averted.



e.
Argument; conclusion: Millions of tons of heat-trapping gasses … will be averted.


11.
The parallel concepts of the element and the atom constitute the very foundations of chemical science.  An element is a substance that cannot be broken down into a simpler form capable of an independent existence as observable matter.  As such, the concept of the element is a macroscopic one that relates to the world that we can observe with our senses.  The atom is the microscopic realization of this concept.  That is, it is the actual physical particle that is unique to each chemical element.

Stephen Lower, Chem 1 Virtual Textbook


a.
Nonargument. 



b.
Argument; conclusion: The parallel concepts … foundations of chemical science.



c.
Argument; conclusion: As such, the concept of the element … realization of this concept.



d.
Argument; conclusion: It is the actual physical particle … each chemical element.



e.
Argument; conclusion: An element is a substance … as observable matter.


12.
Earth science can be divided into four branches.  Geology is the study of rocks, minerals, and forces that wear down the surface and build mountains.  Meteorology covers weather, climate, and the atmosphere.  Astronomy investigates planets, stars, and other features outside the atmosphere.  The study of the oceans is called oceanography.

Scott Ryan, Earth Science


a.
Argument; conclusion: The study of the oceans is called oceanography.



b.
Argument; conclusion: Geology is the study of rocks … build mountains.



c.
Argument; conclusion: Meteorology covers weather, climate, and the atmosphere.



d.
Nonargument.



e.
Argument; conclusion: Earth science can be divided into four branches.


13.
Apple seeds and cherry pits are poisonous because they contain cyanide compounds.  Your body can detoxify small quantities of these compounds, but larger doses can lead to difficulty in breathing, increased blood pressure and heart rate, and kidney failure.  Reactions can include coma, convulsions, and death from respiratory arrest.

Anne Marie Helmstine, “Your Guide to Chemistry”



a.
Argument; conclusion: Apple seeds and cherry pits are poisonous.



b.
Argument; conclusion: Reactions can include … respiratory arrest.



c.
Argument; conclusion: They contain cyanide compounds.



d.
Argument; conclusion: Your body can detoxify … kidney failure.



e.
Nonargument. 


14.
The power that modifies, influences, and controls climate originates with the sun.  The amount of sunlight striking a particular area of the globe determines the level of warmth and ultimately the movement of air and the amount of precipitation.  Because the earth is a globe that rotates about a tilted axis, the amount of sunlight striking the earth varies by region and time.
Gary S. Moore, Living with the Earth, 3rd ed.


a.
Argument; conclusion: The power that modifies … originates with the sun.


b.
Argument; conclusion: The earth is a globe that rotates about a tilted axis.


c.
Argument; conclusion: The amount of sunlight … varies by region and time.


d.
Nonargument.


e.
Argument; conclusion: The amount of sunlight … the amount of precipitation.

15.
Native peoples, completely dependent on Mother Earth for everything in their lives, worshipped the Earth as a nurturing goddess that provided for all their needs.  From the soil came plants and growing things that provided clothing and food.  From the rivers and seas came fish and shellfish for food, trade articles, and tools.  From the air came rain, snow, and wind to grow crops and alter the seasons.  The Earth was never stagnant or dull, but always provided for those in her care. 
Linda Williams, Earth Science Demystified


a.
Argument; conclusion: From the rivers and seas … and tools.



b.
Argument; conclusion: From the soil came plants … clothing and food.



c.
Argument; conclusion: The Earth was never stagnant … in her care.



d.
Argument; conclusion: Native peoples … all their needs.



e.
Nonargument.


16.
Water is abundant over most of the earth’s surface, and within the temperature range usually encountered there, it is liquid.  Water also is a powerful solvent.  Consequently, water is an excellent medium for the chemical processes of living systems.  It is hard to imagine life having any other basis than water.

Robert E. Ricklefs, The Economy of Nature, 5th ed.



a.
Argument; conclusion: It is hard to imagine life having any other basis than water.



b.
Nonargument. 



c.
Argument; conclusion: Water is abundant … it is liquid.



d.
Argument; conclusion: Water is an excellent medium … living systems.



e.
Argument; conclusion: Water also is a powerful solvent.


17.
It is a fact that major life forms now on earth were not at all represented in the past.  There were no birds or mammals 250 million years ago.  It is a fact that major life forms of the past are no longer living.  There used to be dinosaurs and Pithecanthropus, and there are none now.  It is a fact that all living forms came from previously living forms.  Therefore, all present forms of life arose from ancestral forms that were different: birds arose from nonbirds and humans from nonhumans.

R.C. Lewontin, “Evolution/Creation Debate: A Time for Truth”



a.
Argument; conclusion: It is a fact that all living forms … previously living forms.



b.
Argument; conclusion: It is a fact that major life forms of the past are no longer living.



c.
Nonargument. 



d.
Argument; conclusion: It is a fact that major life forms … represented in the past.



e.
Argument; conclusion: All present forms of life … forms that were different.


II.
The following problems relate to identifying and evaluating inductive and deductive arguments.  Select the best answer for each.


18.
After Sally stopped wearing Levi jeans, she started having vision problems.  Therefore, to clear up her vision problems, Sally should go back to wearing her Levi’s.



a.
Inductive, weak.



b.
Deductive, unsound.



c.
Inductive, strong.



d.
Deductive, invalid.



e.
Deductive, valid.


19.
As climate change continues, the temperature of the world’s oceans will rise.  As ocean temperatures rise, hurricanes will become more intense.  Therefore, hurricanes in the Caribbean will intensify in the years ahead.



a.
Inductive, weak.



b.
Inductive, strong.



c.
Deductive, valid.



d.
Deductive, sound.



e.
Deductive, invalid.


20.
Given that figure A is an equilateral triangle, and one of its sides has a length of 1 foot.  It follows that its area is less than 1 square foot.



a.
Inductive, strong.



b.
Inductive, uncogent.



c.
Inductive, weak.



d.
Deductive, valid.



e.
Deductive, invalid.


21.
James Watson, co-discoverer of the structure of the DNA molecule, says that Charles Darwin is the most important person to have ever lived.  Therefore, it must be the case that Charles Darwin is indeed the most important person to have ever lived.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Inductive, cogent.



e.
Deductive, valid.


22.
If the northern pike is a ferocious predator, then it is a threat to lake trout.  The northern pike is indeed a threat to lake trout.  Therefore, the northern pike is a ferocious predator.  



a.
Inductive, weak.



b.
Inductive, strong.



c.
Deductive, valid.



d.
Inductive, cogent.



e.
Deductive, invalid.


23.
Either Leonardo da Vinci or Andrew Wyeth painted the Mona Lisa.  But it clearly wasn’t da Vinci.  Therefore, Andrew Wyeth painted the Mona Lisa.



a.
Inductive, weak.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Deductive, sound.



e.
Inductive, strong.


24.
A week ago we invited Charlie to a party, and within two hours he became drunk and obnoxious.  The same thing happened when Theresa invited him three weeks ago.  Therefore, it would not be a good idea for Daisy to invite him to next week’s party, because the same thing will probably happen again.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Deductive, valid.



e.
Inductive, cogent.


25.
Henry and Carl, who are neighbors, are about the same age, and they both have heart conditions.  Henry takes Digitoxin for his heart, and it relieves his symptoms.  Therefore, it would be a good idea for Carl to take the same medicine for his heart.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, cogent.



d.
Inductive, weak.



e.
Inductive, strong.


26.
Some statements about the human condition are commercial failures, since some novels are commercial failures, and some novels are statements about the human condition.



a.
Inductive, weak.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Deductive, valid.



e.
Inductive, unsound.


27.
The pop-up message on your computer screen says “Earn $10,000 per week.  Call 306-981-4872.”  Therefore, if you call that number you can earn $10,000 per week.



a.
Deductive, invalid.



b.
Deductive, valid.



c.
Inductive, strong.



d.
Inductive, cogent.



e.
Inductive, weak.


28.
Louis graduated from college after Cheri, and Cheri graduated before Denise.  Therefore, it follows necessarily that Louis graduated before Denise.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Inductive, sound.



e.
Inductive, weak.


29.
No taggers are publicly spirited citizens, because all taggers are criminals, and no criminals are publicly spirited citizens.



a.
Inductive, cogent.



b.
Deductive, invalid.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Inductive, strong.


30.
After Scott started the engine in his old Chevy, the car backfired several times, and clouds of smoke came from the exhaust pipe.  Apparently something must be wrong with the engine.



a.
Deductive, valid.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Inductive, strong.



e.
Inductive, cogent.


31.
Laura is the sister of either Rachel or Sandy, and Sandy is the sister of Beth.  Therefore, it follows necessarily that Laura is the sister of Beth.



a.
Deductive, invalid.



b.
Deductive, sound.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Inductive, weak.


32.
Beneath the image of Thomas Jefferson on this U.S. five-cent coin we see “1975.”  It must be the case that the coin was minted in 1975.



a.
Deductive, invalid.



b.
Inductive, strong.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Deductive, sound.


33.
When asked how to address the militaristic ambitions of North Korea, two Republican senators said we should drop bombs on Pyongyang, and a third said we should invade.  The obvious conclusion is that Republicans are all a bunch of war mongers.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Inductive, cogent.



d.
Deductive, valid.



e.
Inductive, weak.


34.
If interest rates rise, then home sales will decline.  Thus, if interest rates rise, then real estate prices will drop, because if home sales decline, then real estate prices will drop.



a.
Deductive, invalid.



b.
Inductive, cogent.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Inductive, strong.

III.
The following problems relate to the counterexample method.


35.
All evangelicals are political conservatives, so some fundamentalists are evangelicals, since some fundamentalists are political conservatives. 



Which of the following correctly expresses the form of this argument? 


a.
All P are E.
b.
Some F are P.
c.
All E are H.
d.
All E are P.



Some P are F.


Some F are E.

Some F are E.

Some F are P.


Some F are E.

All E are P.
Some F are P.

Some F are E.


e.
Some F are P.



Some F are E.



All P are E.


36.
Which of the following substitutions proves the argument in Problem 35 invalid? 



a.
E = fish, P = mammals, F = animals.



b.
E = dogs, P = animals, F = mammals.



c.
E = dogs, P = animals, F = cats.



d.
E = birds, P = dogs, F = fish.



e.
E = animals, P = cats, F = fish.

37.
If shopping malls utilize video cameras, then the privacy of shoppers is invaded.  Consequently, shopping malls utilize video cameras, because the privacy of shoppers is invaded. 



Which of the following correctly expresses the form of this argument? 



a.
If S then P. 
b.
P

c.
If S then P.
d.
If P then S.
e.
If P then S.




P


S



S



P


S





S


If S then P.

P



S.


P


38.
Which of the following substitutions proves the argument in Problem 37 invalid? 



a.
M = Angelina Jolie stars in movies, P = Angelina Jolie is an actress.



b.
M = George Washington was beheaded, P = George Washington is dead.



c.
M = Abraham Lincoln was assassinated, P = Abraham Lincoln is dead.



d.
M = Tom Smith was killed in a plane crash, P = Tom Smith is dead.



e.
M = George Washington is dead, P = George Washington was beheaded.


39.
Some movies are long comedies, for some movies are long, and some movies are comedies.



Which of the following correctly expresses the form of this argument? 



a.
Some M are L.
b.
Some M are LC.
c.

Some M are C.




Some M are C.

Some M are L.

Some M are LC.



Some M are LC.
Some M are C.


Some M are L.



d.
Some LC are M.
e.
Some M are L.




Some M are L.

Some M are C.




Some M are C.
Some LC are C.


40.
Which of the following substitutions proves the argument in Problem 39 invalid? 



a.
M = birds, L = yellow, C = canaries.



b.
M = vegetables, green, C = peppers.



c.
M = animals, L = green, C = elephants.



d.
M = parrots, L = green, C = animals.



e.
M = elephants, L = red, C = cats.

IV.
Select the correct answer for the following multiple choice questions.


41.
Which of the following are all nonarguments? 



a.
Predictions, pieces of advice, reports.



b.
Opinions, categorical syllogisms, explanations.



c.
Expository passages, illustrations, disjunctive syllogisms.



d.
Statements of belief, warnings, conditional statements.



e.
Generalizations, causal inferences, propositions.


42.
Which of the following are all inductive arguments? 



a.
Generalizations, arguments from authority, arguments based on signs.



b.
Disjunctive syllogisms, arguments based on mathematics, arguments from definition.



c.
Causal inferences, arguments from definition, predictions.



d.
Arguments from analogy, arguments from authority, hypothetical syllogisms.



e.
Categorical syllogisms, arguments from authority, predictions.


43.
Which of the following are all conclusion indicators? 



a.
Implies that, accordingly, since.



b.
For the reason that, it follows that, inasmuch as.



c.
Therefore, for this reason, entails that.



d.
Hence, thus, given that.



e.
Given that, as indicated by, seeing that.


44.
In the expression “Hard water causes spots on glass because it contains calcium and magnesium salts that remain when the water dries,” the statement “It contains calcium and magnesium salts that remain when the water dries” is called the: 



a.
Explanandum.



b.
Consequent.



c.
Premise.



d.
Conclusion.



e.
Explanans.


45.
In the expression “If politicians engage in cover-ups, then they risk being prosecuted as criminals,” the statement “They risk being prosecuted as criminals” is called the:



a.
Conclusion.



b.
Conditional.



c.
Antecedent.



d.
Explanandum.



e.
Consequent.


46.
Any argument in which the conclusion actually follows with strict necessity from the premises is: 



a.
Inductive and valid.



b.
Deductive and sound.



c.
Deductive and invalid.



d.
Deductive and valid.



e.
Inductive and cogent.


47.
If an inductive argument has all false premises and a probably false conclusion, then we know:



a.
The argument is strong.



b.
Nothing, as such, about the argument’s strength.



c.
The argument is cogent.



d.
The argument is valid.



e.
The argument is sound.


48.
Which of the following is a sufficient condition for being a parent?



a.
Having sex.



b.
Getting pregnant.



c.
Giving birth.



d.
Getting married.



e.
Having a baby shower.


49.
Which of the following is a necessary condition for making a cell phone call?



a.
Speaking clearly.



b.
Turning the phone on.



c.
Calling a friend.



d.
Selecting a ring tone.



e.
Inputting often used numbers.


50.
Which of the following sentences is a statement?



a.
Lady Gaga is a brain surgeon.



b.
Let’s go to a restaurant tonight.



c.
I suggest that you take a vacation.



d.
Do you know Senator Garson?



e.
Stop beating that drum this very minute.

Logic






Name:______________________________

Chapter 1 Test D

Each question is worth 2 points.  Write your answer on the form provided.  Erasure marks may cause the grading machine to mark your answer wrong.

I.
The following selections relate to distinguishing arguments from nonarguments and identifying conclusions.  Select the best answer for each.


1.
For a long time, Haydn’s music was regarded as genial and lively, and much of its depth, wit, and brilliance went unnoticed.  This was because only a few of his compositions were performed regularly at concerts.  Nowadays, however, much more of Haydn’s music is being performed, and the extraordinary range of his achievement is being recognized.


Jeffrey Yudkin, Understanding Music, 4th edition



a.
Argument; conclusion: For a long time … went unnoticed.



b.
Argument; conclusion: Only a few of his compositions … at concerts.



c.
Argument; conclusion: Nowadays … being performed.



d.
Nonargument.



e.
Argument; conclusion: The extraordinary range … is being recognized.


2.
While the topical application of fluoride to children’s teeth can help reduce decay, the addition of fluoride to drinking water is definitely not a good idea.  Fluoride in drinking water has caused widespread dental fluorosis (mottled and discolored enamel), it is a cumulative poison, which means that it builds up in bone and tissue, and it has been linked to lower IQ in children and to Alzheimer’s disease in adults.



a.
Argument; conclusion: The addition of fluoride … not a good idea.



b.
Argument; conclusion: Fluoride is a cumulative poison.



c.
Nonargument.



d.
Argument; conclusion: The topical application of fluoride … reduce decay.



e.
Argument; conclusion: It has been linked … Alzheimer’s disease in adults.


3.
The aim of an experiment is not to prove that a hypothesis is correct.  Rather, the aim is to demonstrate that it is highly probable that the hypothesis is correct.  Researchers ask the question in the following way: “What is the probability that the results I have obtained could have been found by chance alone?”  Hence, social psychology, like most other sciences, deals with probabilities rather than absolutes.

Stephen Worchel, et al., Understanding Social Psychology, 5th edition


a.
Argument; conclusion: Researchers ask the question … chance alone”



b.
Argument; conclusion: Social psychology … probabilities rather than absolutes.



c.
Argument; conclusion: Rather, the aim … probable that the hypothesis is correct.



d.
Argument; conclusion: The aim of an experiment … the hypothesis is correct. 



e.
Nonargument.


4.
If carbon dioxide levels have been rising for years, the polar ice caps are melting, the frequency and intensity of hurricanes is increasing, and the acidity of sea water is rising, then climate change is for real, it’s not just a delusion of leftist thinking, and the nations of the world must unite to address the threat.



a.
Argument; conclusion: It’s not just a delusion of leftist thinking.



b.
Argument; conclusion: The nations of the world must unite to address the threat.



c.
Argument; conclusion: The polar ice caps are melting.



d.
Argument; conclusion: Global warming is for real.



e.
Nonargument.


5.
After having a part time job for more than a year, I have gotten used to the fact that the government takes money from me every two weeks to put toward Social Security.  It isn’t fair that I should pay for some old person’s rent in Florida.  Despite my dislike of the right wing, I find the idea of privatizing appealing.  I would much rather keep that money to invest in mutual funds, stocks or my college education.

Andy Irwin, Letter to the Editor



a.
Argument; conclusion: After having a part time job … toward Social Security.



b.
Argument; conclusion: Despite my dislike … of privatizing appealing.



c.
Nonargument.



d.
Argument; conclusion: I would much rather keep … or my college education.



e.
Argument; conclusion: It isn’t fair … rent in Florida.


6.
Marketing to consumers via the Internet has many advantages for marketers.  It allows products and services to be offered 24 hours a day, 7 days a week.  It allows products to be offered globally in an efficient manner.  And it is cost efficient, saving the need for stores, paper catalogues, and sales people.

J. Paul Peter and Jerry C. Olson, Consumer Behavior and marketing Strategy


a.
Argument; conclusion: It allows products and services … 7 days a week.



b.
Argument; conclusion: It allows products to be offered … an efficient manner.



c.
Argument; conclusion: It is cost efficient … and sales people.



d.
Nonargument.



e.
Argument; conclusion: Marketing to consumers … for marketers.


7.
Hot peppers cause a burning sensation in the mouth because they contain a compound called capsaicin (or any of the related compounds called capsaicinoids).  Capsaicin is an alkaline oil that binds to pain receptors in the mucous membrane.  In some cases it produces excruciating agony.  Drinking something acidic, like lemonade, helps to combat the burning.
Anne Marie Helmenstine, About.com Guide to Chemistry


a.
Nonargument.



b.
Argument; conclusion: Capsaicin is an alkaline oil … mucous membrane.


c.
Argument; conclusion: Hot peppers cause a burning sensation in the mouth.


d.
Argument; conclusion: Drinking something acidic … combat the burning.


e.
Argument; conclusion: They contain a compound … capsaicinoids).

8.
The ozone layer filters out harmful ultraviolet rays from sunlight before they can reach the surface of our planet and cause damage to humans and other life forms.  Any substantial reduction in the amount of this ozone would threaten life as we know it.  Consequently, the appearance of a large “hole” in the ozone layer over Antarctica represents a major environmental crisis.

Colin Baird and Michael Cann, Environmental Chemistry, 3rd edition



a.
Argument; conclusion: Any substantial reduction … life as we know it.



b.
Argument; conclusion: The appearance of a large … environmental crisis.



c.
Argument; conclusion: The ozone layer … surface of our planet.



d.
Argument; conclusion: The ozone layer … and other life forms.



e.
Nonargument.


9.
Evolution is central to vertebrate biology because it provides a principle that organizes the diversity we see among living vertebrates.  Also it helps to fit extinct forms into the context of living species.  Classification, initially a process of attaching names to organisms, has become a method of understanding evolution.

F. Harvey Pough, et al., Vertebrate Life, 7th edition



a.
Argument; conclusion: It provides a principle … among living vertebrates.



b.
Argument; conclusion: Classification … a method for understanding evolution.



c.
Nonargument.



d.
Argument; conclusion: Evolution is central to vertebrate biology.



e.
Argument; conclusion: It helps to fit … the context of living species.


10.
The field of economics is divided into two major branches: microeconomics and macroeconomics.  Microeconomics studies the behavior of individual economic agents and how they interact with each other in markets.  Macroeconomics focuses on the overall level of economic activity in a society.  It studies such topics as unemployment, inflation, and the rate of economic growth.


Don E. Waldman, Microeconomics


a.
Argument; conclusion: Microeconomics studies … with each other in markets.



b.
Argument; conclusion: The field of economics … macroeconomics.



c.
Argument; conclusion: It studies such topics … rate of economic growth.



d.
Nonargument.



e.
Argument; conclusion: Macroeconomics focuses … in a society.


11.
The exchange of energy between an organism and its surroundings involves the transformation of one form of energy into another.  For example, when a leaf produces sugar, it converts solar energy to chemical energy in sugar molecules.  When an animal’s muscle cells use sugar as fuel to power movements, they convert chemical energy into kinetic energy.  All of the work of cells involves the transformation of chemical energy (which is ordered) into heat, which is the unordered energy of random molecular motion.

Neil A. Campbell and Jane B. Reece, Biology, 6th edition



a.
Argument; conclusion: When an animal’s muscle cells … into kinetic energy.



b.
Argument; conclusion: The exchange of energy … form of energy into another.



c.
Argument; conclusion: When a leaf produces sugar … in sugar molecules.



d.
Argument; conclusion: All of the work of cells … random molecular motion.



e.
Nonargument.


12.
The rate at which a light bulb uses energy (converts electrical energy to light and heat) is usually printed on it—for example, “100 watts.”  A watt is a unit of power, which describes the rate of energy use.  A power of 1 watt means that 1 joule of energy is being used each second.  Hence, for every second that you leave a 100-watt light bulb turned on, you will have to pay the utility company for 100 joules of energy.

Jeffrey Bennett, et al., The Cosmic Perspective, 3rd edition



a.
Argument; conclusion: The rate at which a light bulb … printed on it.



b.
Nonargument.



c.
Argument; conclusion: For every second … 100 joules of energy.



d.
Argument; conclusion: A power of 1 watt … used each second.



e.
Argument; conclusion: A watt is a unit of power … rate of energy use.


13.
A misdemeanor is a minor criminal offense punishable by less than one year in prison.  Thus, petty theft is a misdemeanor, as is vandalism, trespassing, and prostitution.  Some people convicted of misdemeanors are fined.  Others are sentenced to probation or community service.



a.
Nonargument.



b.
Argument; conclusion: Some people convicted of misdemeanors are fined.



c.
Argument; conclusion: Petty theft is a misdemeanor … and prostitution.



d.
Argument; conclusion: Others are sentenced to probation or community service.



e.
Argument; conclusion: A misdemeanor … one year in prison.


14.
Capitalism tends to stratify society.  Those who are successful are respected and rewarded.  Those who are not are abandoned as failures.  The net result is that society becomes hierarchical.  This is an elitist circumstance thought desirable by people on the right.

Leon P. Baradat, Political Ideologies


a.
Argument; conclusion: Those who are successful are respected and rewarded.



b.
Argument; conclusion: The net result is that society becomes hierarchical.



c.
Argument; conclusion: This is an elitist circumstance … on the right.



d.
Nonargument.



e.
Argument; conclusion: Capitalism tends to stratify society.


15.
Health can be conceptualized from medical, functional, or psychological perspectives.  The medical model defines health as an absence of illness or disease, while the functional model defines health in terms of individuals’ ability to perform their assigned roles.  The psychological model of health emphasizes physical, psychological, and social well-being in measuring the health of individuals.


Michael P. Soroka and George J. Bryjak, Social Problems: A World at Risk


a.
Nonargument.



b.
Argument; conclusion: Health can be conceptualized … perspectives.



c.
Argument; conclusion: The functional model … their assigned roles.



d.
Argument; conclusion: The medical model … or disease.



e.
Argument; conclusion: The psychological model … health of individuals.


16.
The world economy is controlled by multinational corporations.  The majority of them are based in the United States.  Their power in the underdeveloped nations perpetuates the dependency of many Third World nations on the United States.  Multinationals add to the tensions in Third World countries through arms sales and intervention in the domestic affairs of host countries.

D. Stanley Eitzen and Maxine Baca Zinn, Social Problems, 9th edition



a.
Argument; conclusion: The world economy … multinational corporations.



b.
Argument; conclusion: Their power … on the United States.



c.
Argument; conclusion: Multinationals add … affairs of host countries.



d.
Nonargument.



e.
Argument; conclusion: The majority of them are based in the United States.


17.
Microorganisms are an essential part of the web of life in every environment.  Microorganisms in the oceans and in bodies of fresh water capture energy from sunlight and store it in molecules that other organisms use as food.  They decompose dead organisms and waste materials from living organisms.  And they even make nitrogen available to plants. 
Jacquelyn C. Black, Microbiology: Principles and Explorations


a.
Argument; conclusion: Microorganisms in the oceans … use as food.


b.
Argument; conclusion: And they even make nitrogen available to plants.


c.
Argument; conclusion: Microorganisms are an essential part … environment.


d.
Argument; conclusion: They decompose dead organisms … living organisms.


e.
Nonargument.


II.
The following problems relate to identifying and evaluating inductive and deductive arguments.  Select the best answer for each.

18.
Scott Peterson was convicted by a jury of murdering his wife and unborn son.  Therefore, he must have actually committed these crimes.



a.
Inductive, sound.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Inductive, weak.



e.
Deductive, valid.

19.
If stun guns are safe, then police officers will use them.  Stun guns are not safe.  Therefore, police officers will not use them.



a.
Inductive, strong.



b.
Inductive, weak.



c.
Deductive, valid.



d.
Inductive, invalid.



e.
Deductive, invalid.

20.
Figure A is a right triangle, and two of its sides have a length of 1 foot.  Therefore, its third side is greater than 1 foot in length.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Deductive, sound.



e.
Inductive, weak.

21.
Harry just bought a brand new car.  Harry must have won the lottery.



a.
Deductive, invalid.



b.
Inductive, invalid.



c.
Deductive, valid.



d.
Inductive, strong.



e.
Inductive, weak.

22.
The inscription beneath the image on a one-dollar bill reads “Washington.”  Therefore, the image must be that of George Washington.



a.
Deductive, invalid.



b.
Deductive, valid.



c.
Deductive, sound.



d.
Inductive, strong.



e.
Inductive, weak.

23.
No nations that ignore poverty are morally developed nations.  No nations that ignore poverty are models for the Third World.  Therefore, all morally developed nations are models for the Third World.



a.
Inductive, weak.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Deductive, sound.



e.
Deductive, valid.

24.
Of the more than 40 red wines imported from Australia, Green Valley, Old Châteaux, and Fireside Vineyards are excellent.  Thus, it must be the case that all red wines imported from Australia are excellent.



a.
Deductive, valid.



b.
Inductive, weak.



c.
Inductive, strong.



d.
Inductive, invalid.



e.
Deductive, invalid.

25.
The annual snowfall in Buffalo, New York, has been over 40 inches every year for the past 20 years.  Therefore, probably the snowfall in Buffalo will be over 40 inches next year.



a.
Inductive, strong.



b.
Deductive, sound.



c.
Deductive, invalid.



d.
Deductive, valid.



e.
Inductive, weak.

26.
The 2004 Olympic games were held in either Athens or Salt Lake City.  But they were not held in Athens.  Therefore, they were held in Salt Lake City.



a.
Inductive, valid.



b.
Deductive, invalid.



c.
Deductive, valid.



d.
Inductive, strong.



e.
Deductive, cogent.

27.
Yuri Androvich is a blue-eyed Russian artist, and his paintings sell for over $10,000.  Peter Roganov is also a blue-eyed Russian, and he just finished art school.  Thus, his paintings should sell for over $10,000, too.



a.
Inductive, strong.



b.
Deductive, valid.



c.
Inductive, cogent.



d.
Deductive, invalid.



e.
Inductive, weak.

28.
Given that 2x – 1 = 13.  It follows that x = 6.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Deductive, sound.

29.
Time magazine carried an article on the huge hurricane that struck the Caiman Islands.  Newsweek is similar in its coverage to Time.  Thus, Newsweek must have carried an article on that hurricane.



a.
Deductive, sound.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Deductive, valid.



e.
Inductive, weak.

30.
All essay contests are challenges that promote thinking.  All challenges that promote thinking are educational experiences.  Thus, all essay contests are educational experiences.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Deductive, valid.



e.
Inductive, cogent.

31.
If malaria becomes drug resistant, then countless victims will perish.  If malaria becomes drug resistant, then a major health crisis will erupt.  Therefore, if a major health crisis erupts, then countless victims will perish.



a.
Deductive, invalid.



b.
Deductive, sound.



c.
Inductive, strong.



d.
Inductive, weak.



e.
Deductive, valid.

32.
The bumper sticker on that car says “Don’t Waste Your Vote.  Vote Libertarian.”  Therefore, it’s clear that you should vote for Libertarian candidates in the next election.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Inductive, cogent.



e.
Inductive, strong.

33.
Maria is a hypochondriac.  Therefore, she always worries about her health.



a.
Inductive, strong.



b.
Deductive, valid.



c.
Inductive, weak.



d.
Deductive, unsound.



e.
Deductive, invalid.

34.
Author Tim LaHaye says that the rapture (when all righteous people will be miraculously lifted up to heaven) will occur in the not too distant future.  Therefore, this event is sure to happen soon.



a.
Inductive, strong.



b.
Deductive, uncogent.



c.
Deductive, invalid.



d.
Inductive, weak.



e.
Deductive, valid.

III.
The following problems relate to the counterexample method.


35.
All spies are covert operators, so all covert operators are risk takers, for all spies are risk takers.



Which of the following correctly expresses the form of this argument?



a.
All C are R.
b.
If S then R.
c.
All S are C.
d.
All S are C.
e.
All C are S.




All S are R.

If S then C.

All S are R.

All C are R.

All R are S.



All S are C.

If C then R.

All C are R.

All S are R.

All C are R.

36.
Which of the following substitutions proves the argument in Problem 35 invalid?



a.
C = cats, S = dogs, R = animals.



b.
S = fish, R = mammals, C = animals.



c.
S = dogs, C = mammals, R = animals.



d.
R= dogs, C = cats, S = animals.



e.
S = cats, C = animals, R = mammals.


37.
If deficits increase then the economy will stagnate.  Thus, if deficits increase, then interests rates will rise, because if interest rates rise, then the economy will stagnate.



Which of the following correctly expresses the form of this argument?



a.
If D then E.
b.
If D then I.

c.
If D then I.
d.
If D then E.
e.
If D then E.




If D then I.

If I then E.

If D then E.
If E then I.


If I then E.




If I then E.

If D then E.

If I then E.
If D then I.

If D then I.


38.
Which of the following substitutions proves the argument in Problem 37 invalid?



a.
D = Tom Hanks is a man, E = Tom Hanks is a human, I = Tom Hanks is a woman.



b.
D = dogs, I = mammals, E = animals.



c.
D = Bob is a physician, E = Bob is a professional, I = Bob is a doctor.



d.
D = dogs, E = animals, I = cats.



e.
D = Halle Berry is an actor, E = Halle Berry is a woman, I = Halle Berry is a human.


39.
All corporate mergers are either success stories or fiascos.  Hence, some corporate mergers are fiascos.



Which of the following correctly expresses the form of this argument?



a.
All C are S.

b.
All CM are either S or F.
c.
Some C are F.




Some C are F.


Some C are F.



All C are either S or F.



d.
All C are either S or F.
e.
If C then either S or F.



Some C are F.



If C then F.

40
.
Which of the following substitutions proves the argument in Problem 39 invalid?



a.
C = mammals, F = dogs, S = cats.



b.
C = dogs, S = mammals, F = fish.



c.
C = animals, S = fish, F = mammals.



d.
C = Bill Gates is a man, S= Bill Gates is a human, F = Bill Gates is a woman.



e.
C = cats, S = mammals, F = animals.

IV.
Select the correct answer for the following multiple choice questions.

41.
Which of the following are all premise indicators?



a.
Hence, thus, implies that.



b.
Accordingly, seeing that, inasmuch as.



c.
For, given that, because.



d.
As, consequently, because.



e.
For the reason that, in that, wherefore.


42.
Which of the following are all arguments?



a.
Reports, arguments from signs, arguments from authority.



b.
Causal inferences, explanations, warnings.



c.
Illustrations, conditional statements, pieces of advice.



d.
Syllogisms, predictions, generalizations.



e.
Arguments from analogy, explanations, illustrations.

43.
Which of the following are all deductive arguments?



a.
Arguments from analogy, arguments based on signs, causal inferences.



b.
Arguments from analogy, predictions, causal inferences.



c.
Predictions, hypothetical syllogisms, arguments from authority.



d.
Arguments based in mathematics, hypothetical syllogisms, generalizations.



e.
Categorical syllogisms, arguments from definition, disjunctive syllogisms.


44.
An argument that concludes something is true because somebody has said so is:



a.
A deductive argument.



b.
An inductive argument.



c.
A strong argument.



d.
A valid argument.



e.
A sound argument.


45.
An argument whose conclusion rests on the definition of a word used in the premises is:



a.
A deductive argument.



b.
A valid argument.



c.
A sound argument.



d.
A cogent argument.



e.
An inductive argument.

46.
In the expression “Barack Obama was elected president because he capitalized on a bad economy,” the statement “He capitalized on a bad economy” is called the:



a.
Premise.



b.
Consequent.



c.
Explanans.



d.
Conclusion.



e.
Explanandum.

47.
In the expression “If North Korea has nuclear weapons, then it poses a threat to world peace,” the statement “It poses a threat to world peace” is called the: 


a.
Conditional.



b.
Consequent.



c.
Antecedent.



d.
Explanandum.



e.
Conclusion.


48.
Which of the following is a necessary condition for going for a swim? 


a.
Treading water.



b.
Doing the breaststroke.



c.
Holding your breath.



d.
Getting into the water.



e.
Doing the backstroke.


49.
Which of the following is a sufficient condition for making ice from fresh water? 


a.
Putting the water outside in the cold.



b.
Putting the water into the freezer.



c.
Pouring the water into an ice cube tray.



d.
Lowering the temperature of the water below 40º F.



e.
Lowering the temperature of the water to 20º F.


50.
If a deductive argument has false premises and a false conclusion, then we know: 


a.
Nothing as such about the argument’s validity.



b.
The argument is invalid.



c.
The argument is valid.



d.
The argument is weak.



e.
The argument is uncogent.

Logic






Name:______________________________

Chapter 1 Test E

Each question is worth 2 points.  Write your answer on the form provided.  Erasure marks may cause the grading machine to mark your answer wrong.

I.
The following selections relate to distinguishing arguments from nonarguments and identifying conclusions.  Select the best answer for each.


1.
The Social Security system is a pay-as-you-go arrangement where contributions by today’s workers are paid out to yesterday’s retirees.  If part of today’s contributions go into private retirement accounts, they cannot be paid out.  To make up the shortage, the government would have to borrow massive amounts of money.  Hence, Social Security privatization would cause a huge increase in the federal deficit. 


a.
Nonargument.



b.
Argument; conclusion: If part of today’s contributions … cannot be paid out.



c.
Argument; conclusion: Social security privatization … federal deficit.



d.
Argument; conclusion: The Social Security System … to yesterday’s retirees.



e.
Argument; conclusion: To make up the shortage … massive amounts of money.


2.
There are two approaches to the development and testing of hypotheses: inductive and deductive.  In the inductive method, the scientist gathers empirical data and from it arrives at a generalization.  The inductive method proceeds from specific observations to a general conclusion.  Using a deductive method, a scientist develops a general idea about a phenomenon, performs experiments, and from them makes specific predictions that can be tested again. 
Robert Leo Smith and Thomas M Smith, Ecology and Field Biology, 6th edition



a.
Argument; conclusion: The inductive method … to a general conclusion.



b.
Nonargument.



c.
Argument; conclusion: There are two approaches … inductive and deductive.



d.
Argument; conclusion: using a deductive method … can be tested again.



e.
Argument; conclusion: In the inductive method … at a generalization.


3.
Cats can see in the dark because they have a special mirror-like layer of cells behind their retina called the tapetum lucidum.  When light passes through the retina, it is reflected back through it by this layer of cells, and this provides additional stimulation to the retina's light receptors. 


a.
Argument; conclusion: This provides additional … light receptors.


b.
Argument; conclusion: When light passes through … by this layer of cells.


c.
Argument; conclusion: They have a special … tapetum lucidum.



d.
Argument; conclusion: Cats can see in the dark.



e.
Nonargument.


4.
The U.S. is the largest single market in the world in terms of national income.  It represents roughly 25 percent of the total world market for all products and services.  Thus, U.S. companies that wish to achieve maximum growth potential must “go global” because 75 percent of the world market potential is outside their home country. 
Warren J. Keegan and Mark C. Green, Global Marketing


a.
Argument; conclusion: U.S. companies that wish … must “go global.”



b.
Argument; conclusion: It represents … products and services.



c.
Argument; conclusion: 75 percent of the world market … home country.



d.
Nonargument.



e.
Argument; conclusion: The U.S. is the largest … national income.


5.
Over the past decade, many graffiti artists have moved away from painting their signatures in the familiar wide-style lettering (a practice known as “tagging”).  Instead, they make their mark with pictograms.  Thus, a Belgian artist known as Plug appends large, cartoon electric plugs to machines in public places, while Cha, an academy-trained painter, adorns the walls of Barcelona with Picasso-influenced cats. 
Tristan Manco, “Street Logos”



a.
Argument; conclusion: Cha, an academy-trained … Picasso-influenced cats.



b.
Argument; conclusion: Instead, they make their mark with pictograms.



c.
Argument; conclusion: Over the past decade … ( a practice known as “tagging”).



d.
Nonargument.



e.
Argument; conclusion: A Belgian artist known as Plug … in public places.


6.
Sugar never spoils or gets moldy because it has an extremely low moisture content.  This low moisture content dehydrates and kills microorganisms that might cause mold, and it impedes chemical changes that could cause spoilage. 


a.
Argument; conclusion: This low moisture content … that might cause mold.



b.
Argument; conclusion: Sugar never spoils or gets moldy.



c.
Argument; conclusion: It impedes chemical changes that could cause spoilage.



d.
Argument; conclusion: It has an extremely low moisture content.



e.
Nonargument.


7.
Contrary to the assurances of the fast food industry, most fast foods are loaded with fat grams.  For example, KFC’s Chunky Chicken Pot Pie has 42 fat grams, a Double Whopper with Cheese has 65, and an order of Mucho Grande Nachos has an incredible 82 fat grams. 


a.
Argument; conclusion: An order of Mucho Grande Nachos … 82 fat grams.



b.
Nonargument.



c.
Argument; conclusion: Most fast foods are loaded with fat grams.



d.
Argument; conclusion: KFC’s Chunky Chicken Pot Pie has 42 fat grams.



e.
Argument; conclusion: A Double Whopper with Cheese has 65.


8.
Education in the United States is a system in crisis.  Compared to their Asian and European counterparts, American students are poor academic performers, especially in sciences and in mathematics.  Despite having received an education, millions of adults are functionally and culturally illiterate.  Educational funding has been cut dramatically, and many school facilities are in dangerous states of disrepair. 
Michael P. Soroka and George J. Bryjak, Social Problems: A World at Risk


a.
Argument; conclusion: Education in the United States is a system in crisis.



b.
Argument; conclusion: Despite having received … culturally illiterate.



c.
Argument; conclusion: Compared to their Asian … sciences and in mathematics.



d.
Argument; conclusion: Educational funding … dangerous states of disrepair.



e.
Nonargument.


9.
Photographs taken from space show that Earth is striking in its beauty.  Blue oceans cover nearly three-fourths of the surface, broken by the continental land masses and scattered islands.  The polar caps are white with snow and ice, and white clouds are scattered above the surface.  At night, the glow of artificial lights clearly reveals the presence of an intelligent civilization. 
Jeffrey Bennett, et al., The Cosmic perspective, 3rd edition



a.
Argument; conclusion: The polar caps … above the surface.



b.
Nonargument.



c.
Argument; conclusion: Blue oceans … scattered islands.



d.
Argument; conclusion: At night, the glow … an intelligent civilization.



e.
Argument; conclusion: Photographs taken from space … striking in its beauty.


10.
Water is a highly reactive substance, quite different both physically and chemically from most other liquids.  Indeed, life as we know it would be impossible if water did not have the properties it does.  The first living systems presumably arose in the aqueous environment of shallow seas.  It is therefore not surprising that the living organisms of the present are intimately adapted at the molecular level to the special properties of water. 
David Randall et al., Animal Physiology


a.
Argument; conclusion: Water is a highly reactive … most other liquids.



b.
Argument; conclusion: Indeed, life as we know it … the properties it does.



c.
Argument; conclusion: It is not surprising … properties of water.



d.
Nonargument.



e.
Argument; conclusion: The first living systems … shallow seas.


11.
Health care is a basic right.  Our current system is convoluted and unethical and should go the way of gladiator games.  We can spar and battle in the free market in many arenas, but when we get sick we should all have care—not just the lawyers, bankers, politicians, and others who can afford it.  We like the free market, but we shouldn’t let people die in the street—not in this country.

Lucius Schoenbaum, Letter to the Editor



a.
Argument; conclusion: We can spar and battle … others who can afford it.



b.
Argument; conclusion: We like the free market … not in this country.



c.
Argument; conclusion: Our current system is convoluted … gladiator games.



d.
Nonargument.



e.
Argument; conclusion: Health care is a basic right.


12.
If the dietary guidelines promulgated by the Department of Agriculture, which recommend two servings of fruit, three servings of vegetables, and two servings of milk products every day, are to have any real effect, then fundamental cultural changes will have to occur, and people will have to rethink their inherited notions about the purpose of eating—whether we should eat for pleasure or for health—and what is necessary for a meal to be satisfying. 


a.
Nonargument.



b.
Argument; conclusion: The dietary guidelines … are to have any real effect.



c.
Argument; conclusion: Dietary guidelines have been promulgated by the Department of Agriculture.



d.
Argument; conclusion: Fundamental cultural changes … to be satisfying.



e.
Argument; conclusion: We must rethink whether we should eat for pleasure or for health.


13.
Modern biology is as important as it is inspiring.  Genetics and cell biology are revolutionizing medicine and agriculture.  Molecular biology is providing new tools for anthropology, helping us trace the origin and dispersal of early humans.  Ecology is helping us evaluate environmental issues, such as the causes and consequences of global warming.  And neuroscience and evolutionary biology are reshaping psychology and sociology. 
Neil A. Campbell and Jane B. Reece, Biology, 6th edition



a.
Argument; conclusion: Genetics and cell biology … agriculture.



b.
Argument; conclusion: Molecular biology … dispersal of early humans.



c.
Nonargument.



d.
Argument; conclusion: Neuroscience and evolutionary biology … sociology.



e.
Argument; conclusion: Modern biology is as important as it is inspiring.


14.
The farther away we look in distance, the further back we look in time.  This fact allows us to see what parts of the universe looked like in the distant past.  For example, if we look at a galaxy that is 1 billion light years away, its light has taken 1 billion years to reach us—which means we are seeing it as it looked 1 billion years ago. 
Jeffrey Bennett, et al., The Cosmic Perspective, 3rd edition



a.
Argument; conclusion: This fact allows us to see … in the distant past.



b.
Argument; conclusion: The farther away … we look in time.



c.
Argument; conclusion: If we look at a galaxy … 1 billion years to reach us.



d.
Nonargument.



e.
Argument; conclusion: We are seeing it as it looked 1 billion years ago.


15.
The beating of your heart results from physiological mechanisms fundamentally no different from those that underlie heart function in fishes, frogs, and birds.  Likewise, the molecular events that produce an electrical nerve impulse in your brain are fundamentally the same as those that produce an impulse in the nerve of a squid or rat.  For these reasons, animal physiology has made innumerable contributions to our understanding of human physiology. 
David Randall et al., Animal Physiology


a.
Argument; conclusion: Likewise, the molecular events … nerve of a squid or rat.



b.
Nonargument.



c.
Argument; conclusion: The beating of your heart … frogs, and birds.



d.
Argument; conclusion: The beating of your heart … physiological mechanisms.



e.
Argument; conclusion: Animal physiology … human physiology.


16.
Laws banning junk e-mail are largely ineffective.  Spammers can easily avoid such laws by moving overseas, where local rules allow them free rein.  Also, it is often impossible to detect the source of junk e-mail.  Much of it is sent from zombie transmitters—personal computers that have been hijacked by viruses. 
Newspaper Clipping



a.
Argument; conclusion: Spammers can easily avoid … allow them free rein.



b.
Argument; conclusion: Much of it is sent … hijacked by viruses.



c.
Argument; conclusion: Laws banning junk e-mail are largely ineffective.



d.
Argument; conclusion: Also, it is often impossible … junk e-mail.



e.
Nonargument.


17.
The 300 million people who live in the U.S. make up just 5% of the world’s population, but they consume a quarter of the world’s oil supply.  For much of the twentieth century, the U.S. was the world’s largest oil producer, and its profligacy wasn’t a pressing problem.  Today, however, we are only the third-largest producer, behind Saudi Arabia and Russia.  In terms of proven reserves, we have slipped to tenth place in the international rankings.

John Cassidy, “Pump Dreams”



a.
Argument; conclusion: For much of the twentieth century … a pressing problem.



b.
Nonargument.



c.
Argument; conclusion: In terms of proven reserves … international rankings.



d.
Argument; conclusion: The 290 million people who live … world’s oil supply.



e.
Argument; conclusion: Today, however … Saudi Arabia and Russia.


II.
The following problems relate to identifying and evaluating inductive and deductive arguments.  Select the best answer for each.


18.
If corporations continue to pollute, then the environment will be damaged beyond repair.  The environment will be damaged beyond repair.  Therefore, corporations will continue to pollute. 


a.
Deductive, invalid.



b.
Deductive, sound.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Inductive, weak.


19.
Valerie Nelson’s last three novels sold well over a million copies each.  She’s now finished a new novel, and it has gotten better reviews than the earlier ones.  Hence, her new novel should sell over a million copies, too.



a.
Inductive, strong.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Inductive, cogent.



e.
Deductive, valid.


20.
Pencil lead is composed of pure carbon, and pencil lead is very cheap.  Diamonds, like pencil lead, are composed of pure carbon.  Therefore, probably diamonds are very cheap.


a.
Deductive, invalid.



b.
Inductive, strong.



c.
Deductive, valid.



d.
Inductive, sound.



e.
Inductive, weak.


21.
George is an egotist.  Therefore, he has an inflated impression of his own importance. 


a.
Inductive, weak.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Inductive, cogent.


22.
That billboard in the middle of the field says “Get the U.S. out of the U.N.”  From this it’s clear that the United Nations is a bad organization.



a.
Deductive, valid.



b.
Inductive, weak.



c.
Deductive, weak.



d.
Deductive, invalid.



e.
Inductive, strong.


23.
Some heart attacks are not fatal occurrences, and no strokes are heart attacks.  Thus, some strokes are not fatal occurrences.



a.
Deductive, sound.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Inductive, weak.



e.
Deductive, valid.


24.
Figure A is a right triangle, and two of its sides have a length of 1 foot.  Therefore, it’s area is ½ square foot.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Deductive, sound.



d.
Deductive, valid.



e.
Inductive, weak.


25.
More than 99% of all airplane flights land safely.  Therefore, probably the next flight to depart from JFK International Airport will land safely.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Inductive, weak.



d.
Deductive, invalid.



e.
Inductive, uncogent.


26.
Radio show host Frank Weltner, who is a neo-Nazi white supremacist, says that all immigration from Mexico must stop immediately.  Therefore, we must take Mr. Weltner at his word and call a halt to Mexican immigration.



a.
Deductive, unsound.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Deductive, valid.



e.
Inductive, weak.


27.
If prisoners are discharged without any skills, then they will return to a life of crime.  If prisoners are unable to get jobs, then they will return to a life of crime.  Thus, if prisoners are discharged without any skills, then they will be unable to get jobs.



a.
Deductive, invalid.



b.
Deductive, valid.



c.
Inductive, weak.



d.
Inductive, cogent.



e.
Inductive, strong.


28.
According to a widely respected poll, 60% of the voters in Pennsylvania support Amelia Kerrigan for Governor.  Therefore, Kerrigan will probably win, since the election is only two days away.



a.
Deductive, valid.



b.
Inductive, weak.



c.
Inductive, cogent.



d.
Inductive, strong.



e.
Deductive, invalid.


29.
All terrorist leaders are secluded megalomaniacs.  No secluded megalomaniacs are lovers of humanity.  Therefore, no terrorist leaders are lovers of humanity.



a.
Deductive, sound.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Inductive, strong.



e.
Inductive, weak.


30.
Ashley detests Isabel, and Isabel detests Francesca.  Therefore, it necessarily follows that Ashley detests Francesca.



a.
Inductive, weak.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Inductive, uncogent.



e.
Deductive, valid.


31.
Frank is bringing flowers home to his wife.  Apparently Frank is having an affair.



a.
Inductive, strong.



b.
Deductive, valid.



c.
Inductive, weak.



d.
Deductive, invalid.



e.
Deductive, unsound.


32.
On the inside surface of this gold ring some small print reads “14k.”  Therefore, the ring must be made of 14 caret gold.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Inductive, strong.



e.
Inductive, cogent.


33.
Either Woodrow Wilson or Theodore Roosevelt promoted the formation of the League of Nations.  But it wasn’t Wilson.  Therefore, Theodore Roosevelt promoted the formation of the League of Nations.



a.
Deductive, uncogent.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Inductive, strong.



e.
Deductive, valid.


34.
Mitzi the cat is looking at its empty bowl and meowing.  Mitzi must be hungry.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Inductive, cogent.

III.
The following problems relate to the counterexample method.


35.
No symbols of equality are threats to civil order, for no gay marriages are threats to civil order, and all gay marriages are symbols of equality. 

Which of the following correctly expresses the form of this argument?



a.
No S are T.
b.
No G are T.
c.
All G are S.
d.
If G then T.
e.
All S are G.




No G are T.

All G are S.

No S are T.

If G then S.

No G are T.



All G are S.

No S are T.

No G are T.

If S then T.

No S are T.


36.
Which of the following substitutions proves the argument in Problem 35 invalid? 


a.
S = mammals, T = fish, G = dogs.



b.
S = cats, T = fish, G = mammals.



c.
G = cats, S= mammals, T = fish.



d.
T = humble spirits, S = adventurous characters, G = creative individuals.



e.
G = dogs, T = cats, S = animals.


37.
If charter schools are expanded, then education will improve, so charter schools will be expanded, because education will improve. 

Which of the following correctly expresses the form of this argument?



a.
C

b.
If C then E.

c.
If C then E.
d.
All C are E.
e.
If C then E.




E


C



E


E


If E then F.



If C then E.

E



C


C


If C then F.


38.
Which of the following substitutions proves the argument in Problem 37 invalid? 


a.
C = Johnny Depp is a man, E = Johnny Depp is a human.



b.
C = George Washington was assassinated, E = George Washington is dead.



c.
C = Cathy Smith was assassinated, E = Cathy Smith is dead.



d.
C = mammals, E = animals.



e.
C = George Washington is dead, E = Abraham Lincoln is dead.


39.
Some attorneys are litigators, so Some attorneys are skillful litigators, since some attorneys are skillful.


Which of the following correctly expresses the form of this argument?



a.
Some A are S.

b.
Some A are SL.
c.
Some A are S.




Some A are L.


Some A are L.


Some A are SL.



Some A are SL.

Some A are S.

Some A are L.



d.
Some A are not S.
e.
Some A are L.




Some A are not L.

Some A are not S.



Some A are not SL.

Some A are SL.


40.
Which of the following substitutions proves the argument in Problem 39 invalid? 


a.
A = doctors, S = highly trained, L = specialists.



b.
A = women, S = caring, L = parents.



c.
A = fruits, S = yellow, L = lemons.



d.
A = people, S = intelligent, L = morons.



e.
A = cars, S = large, L = sedans.

IV.
Select the correct answer for the following multiple choice questions.


41.
Which of the following are all nonarguments? 


a.
Expository passages, illustrations, predictions.



b.
Generalizations, expository passages, opinions. 


c.
Predictions, syllogisms, warnings. 


d.
Conditional statements, illustrations, causal inferences. 


e.
Illustrations, explanations, pieces of advice. 

42.
Which of the following are all inductive arguments? 


a.
Arguments based on signs, hypothetical syllogisms, predictions.



b.
Generalizations, causal inferences, arguments from analogy. 


c.
Arguments based on signs, arguments from authority, arguments from definition. 


d.
Arguments from definition, disjunctive syllogisms, categorical syllogisms. 


e.
Categorical syllogisms, arguments from authority, causal inferences. 

43.
Which of the following are all conclusion indicators? 


a.
For this reason, may be inferred from, seeing that.



b.
Hence, since, as indicated by. 


c.
Accordingly, thus, it must be that. 


d.
We may conclude, it follows that, given that. 


e.
Wherefore, because, implies that. 

44.
In the expression, “Barack Obama was awarded the Nobel Peace Prize because he was perceived as being committed to the resolution of international conflicts through diplomacy and not warfare,” the statement “Barack Obama was awarded the Nobel Peace Prize” is called the: 


a.
Explanandum. 


b.
Conclusion. 


c.
Antecedent. 


d.
Explanans. 


e.
Consequent. 

45.
In the expression “If corporate CEOs are paid exorbitant salaries, then investors are cheated,” the statement “Corporate CEOs are paid exorbitant salaries” is called the: 


a.
Conditional.



b.
Premise.



c.
Consequent.



d.
Explanans.



e.
Antecedent.


46.
An argument that proceeds from knowledge of a cause to a claim about an effect is: 


a.
A sound argument.



b.
A strong argument.



c.
A cogent argument.



d.
An inductive argument.



e.
A deductive argument.


47.
An argument that proceeds from our knowledge of the past to a claim about the future is: 


a.
A valid argument.



b.
An inductive argument. 


c.
A strong argument. 


d.
A deductive argument. 


e.
A cogent argument. 

48.
If a deductive argument has one false premise and a true conclusion, then we know: 


a.
The argument is invalid.



b.
The argument is valid. 


c.
Nothing as such about the argument’s validity. 


d.
The argument is sound. 


e.
The argument is uncogent. 

49.
Which of the following is a sufficient condition for being a dog? 


a.
Having a tail.



b.
Weighing at least 30 pounds. 


c.
Being an animal. 


d.
Being a collie. 


e.
Having fur. 

50.
Which of the following is a necessary condition for going ice skating? 


a.
Wearing skates. 


b.
Driving to the ice rink. 


c.
Having the skates sharpened.



d.
Falling down on the ice. 


e.
Tracing a figure 8 in the ice. 
Logic






Name:______________________________

Chapter 1 Test F

Each question is worth 2 points.  Write your answer on the form provided.  Erasure marks may cause the grading machine to mark your answer wrong.

I.
The following selections relate to distinguishing arguments from nonarguments and identifying conclusions.  Select the best answer for each.


1.
When our nation begins to use torture as a means to an end, we chip away at the values we profess to defend.  Little by little and step by step, we coarsen our society.  We cheapen ourselves until we become no different than those who commit acts of terror.  At that point, what shall we make of ourselves?

Joseph Neri, Letter to the Editor



a.
Argument; conclusion: Little by little and step by step, we coarsen our society.



b.
Argument; conclusion: At that point, what shall we make of ourselves?



c.
Argument; conclusion: When our nation … we profess to defend.



d.
Argument; conclusion: We cheapen ourselves … acts of terror.



e.
Nonargument.


2.
Assume that the universe is 14 billion years old.  If we look at a galaxy that is 12 billion light years away, we see it as it was 12 billion years ago, when the universe was only 2 billion years old.  Thus, simply by looking to great distances, we can see what parts of the universe looked like when the universe was younger.  The key limitation to this ability is the power of our telescopes.

Jeffrey Bennett, et al., The Cosmic Perspective, 3rd edition



a.
Nonargument.



b.
Argument; conclusion: The key limitation … power of our telescopes.



c.
Argument; conclusion: Simply by looking … universe was younger.



d.
Argument; conclusion: Assume that the universe is 14 billion years old.



e.
Argument; conclusion: If we look at a galaxy … 2 billion years old.


3.
If Supreme Court Justice Ruth Bader Ginsburg is correct in her assessment that “people who are well represented at trial do not get the death penalty,” then the disparate skills of defense attorneys in capital cases throughout America guarantees that defendants who are legally innocent will continue to be executed and that manifest justice dictates that the death penalty be abolished.



a.
Argument; conclusion: Manifest justice dictates … be abolished.



b.
Nonargument.



c.
Argument; conclusion: Supreme Court Justice … do not get the death penalty.”



d.
Argument; conclusion: The disparate skills … be abolished.



e.
Argument; conclusion: The disparate skills … continue to be executed.


4.
Liquids and gasses have the property of being fluid—that is, they flow—because their atoms, ions, or molecules are not so strongly attracted to each other as they are in solids.  Not being confined to specific locations, the particles in a liquid can move past one another.

Melvin D. Joesten and James L Wood, World of Chemistry, 2nd edition



a.
Argument; conclusion: Not being confined … move past one another.



b.
Argument; conclusion: Their atoms, ions, or molecules … as they are in solids.



c.
Argument; conclusion: Liquids and gasses … they flow.



d.
Nonargument.



e.
Argument; conclusion: Liquids and gasses have the property of being fluid.


5.
Tattooing and body piercing pose serious health risks to those receiving them.  The primary concern is infection with blood-born pathogens like H.I.V. and hepatitis.  Bacteria that live on the skin are easily spread by unsterilized instruments or ungloved hands.  And tongue and genital piercing can also provide channels for bacteria and viruses to enter the bloodstream after the piercing procedure.

Lorraine Kreahling, “The Perils of Needles to the Body”



a.
Argument; conclusion: Tattooing and body piercing … to those receiving them.



b.
Argument; conclusion: And tongue and genital piercing … piercing procedure.



c.
Argument; conclusion: The primary concern … like H.I.V. and hepatitis.



d.
Argument; conclusion: Bacteria that live on the skin … ungloved hands.



e.
Nonargument.


6.
There are numerous ways to study nonhuman animals.  One method is to observe a group and describe (either by taking notes or speaking into a tape recorder) as completely as possible everything that occurs.  Another technique is to “follow” one “focal” animal, describing everything it does.  Still another frequently used method involves making observations of a focal animal at precise intervals.

Robert Jurmain, et al., Essentials of Physical Anthropology, 5th edition



a.
Argument; conclusion: One method is to observe … everything that occurs.



b.
Argument; conclusion: Another technique … describing everything it does.



c.
Nonargument.



d.
Argument; conclusion: Still another frequently used method … precise intervals.



e.
Argument; conclusion: There are numerous ways to study nonhuman animals.


7.
Your sofa may be poisoning you.  Its foam padding probably contains flame retardant chemicals called polybrominated diphenyl ethers.  These chemicals have been linked to memory loss and brain damage.  Also they may cause cancer and damage the liver.



a.
Argument; conclusion: Also they may cause cancer and damage the liver.



b.
Nonargument.



c.
Argument; conclusion: These chemicals … brain damage.



d.
Argument; conclusion: Its foam padding … polybrominated diphenyl ethers.



e.
Argument; conclusion: Your sofa may be poisoning you.


8.
We can’t bomb our way out of nuclear proliferation.  But in a world in which nuclear weapons are the badge of real nations, no self-respecting superpower is going to disarm unilaterally, and every nonnuclear state will want a seat at the table.  The only way to escape this deadly cycle is for the nuclear powers to step up and lead negotiations for an international agreement abolishing nuclear weapons.

Chris Cooper, Letter to the Editor



a.
Argument; conclusion: We can’t bomb our way out of nuclear proliferation.



b.
Argument; conclusion: The only way to escape … abolishing nuclear weapons.



c.
Argument; conclusion: But in a world … disarm unilaterally.



d.
Nonargument.



e.
Argument; conclusion: Every nonnuclear state will want a seat at the table.


9.
There are two types of pension plan.  In a defined contribution plan, a company contributes a specific amount of money, often based on profits, to a fund owned by its employees.  In a defined benefit plan, the company promises to make specific lifetime payments to its employees when they retire.  The payments depend on each employee’s pay at retirement, years of service, and expected lifespan.
Eugene F. Brigham, Financial Management: Theory and Practice


a.
Nonargument.



b.
Argument; conclusion: In a defined benefit plan … when they retire.


c.
Argument; conclusion: In a defined contribution plan … owned by its employees.


d.
Argument; conclusion: The payments depend … expected lifespan.


e.
Argument; conclusion: There are two types of pension plan.

10.
Earthquakes occur because the surface of the earth is composed of giant rigid plates, and these plates are constantly moving.  When one plate rubs against another, the motion of the plates in that area is halted, and strain builds up.  Eventually the edge of the plate cannot withstand the increasing strain, and it breaks.  The resulting shudder is felt as an earthquake.



a.
Argument; conclusion: The resulting shudder is felt as an earthquake.



b.
Argument; conclusion: Earthquakes occur.



c.
Argument; conclusion: When one plate rubs … strain builds up.



d.
Nonargument.



e.
Argument; conclusion: Eventually the edge of the plate … it breaks.


11.
Because the properties of life emerge from complex organization, scientists seeking to understand biological processes confront a dilemma.  One horn of the dilemma is that we cannot fully explain a higher level of order without breaking it down into its parts, but this inevitably kills it.  The other horn is the futility of trying to analyze something as complex as an organism or a cell without taking it apart.

Neil A. Campbell and Jane B. Reece, Biology, 6th edition



a.
Argument; conclusion: The other horn is … without taking it apart.



b.
Argument; conclusion: The properties of life emerge from complex organization.



c.
Nonargument.



d.
Argument; conclusion: One horn of the dilemma … inevitably kills it.



e.
Argument; conclusion: Scientists seeking to understand … confront a dilemma.


12.
All businesses are involved in three types of activity—financing, investing, and operating.  For example, the founder of Tootsie Roll needed financing to start and grow his business.  This may have come from either personal savings or outside sources.  The cash obtained was then invested in the equipment necessary to run the business, such as mixing equipment and delivery vehicles.  Once this equipment was in place, the founder could begin the operating activities of making and selling candy.

Paul D. Kimmel, et al., Financial Accounting, 3rd edition



a.
Argument; conclusion: The cash obtained … delivery vehicles.



b.
Argument; conclusion: Once this equipment was in place … selling candy.



c.
Argument; conclusion: The founder of Tootsie Roll … grow his business.



d.
Argument; conclusion: All businesses are involved … and operating.



e.
Nonargument.


13.
Finance as we know it today grew out of and lies between economics and accounting.  Economists developed the notion that an asset’s value is based on the future cash flow the asset will provide.  Accountants provided the information about the likely size of those cash flows.  So, people who work in finance require knowledge of both economics and accounting.
Eugene F. Brightman et al., Fundamentals of Financial Management.


a.
Argument; conclusion: Economists developed the notion … asset will provide.


b.
Argument; conclusion: People who work in finance … accounting.


c.
Argument; conclusion: Accountants provided the information … cash flows.


d.
Nonargument.



e.
Argument; conclusion: Finance as we know it today … accounting.

14.
Marx saw all societies as composed of two basic parts: the foundation and the super​structure.  The foundation of any society, according to this theory, is material.  It consists of the economic system.  The superstructure is composed of all nonmaterial institutions in the society, and each is arranged in a way that suits the ruling class.  Included in the superstructure are values, ideology, government, education, law, religion, and art.

Leon P. Baradat, Political Ideologies


a.
Argument; conclusion: Included in the superstructure … religion, and art.



b.
Argument; conclusion: The superstructure is composed … suits the ruling class.



c.
Nonargument.



d.
Argument; conclusion: Marx saw all societies … and the superstructure.



e.
Argument; conclusion: The foundation of any society … is material.


15.
People everywhere recognize a category of people who are related to them biologically or through adoption—their relatives, we call them.  But the principles by which certain kinds of relatives are placed in cultural categories vary between kinship systems.  Thus, English speakers think of the sisters of both our mother and our father as a single kind of relative, and we call them by the same kinship term, aunt.  But there are some cultural traditions in which the sister of one’s mother is considered one kind of relative and the sister of one’s father a different kind, and each is called by a separate kinship term.

Garrick Bailey and James Peoples, Essentials of Cultural Anthropology


a.
Nonargument.



b.
Argument; conclusion: But the principles … vary between kinship systems.



c.
Argument; conclusion: English speakers think … the same kinship term, aunt.



d.
Argument; conclusion: But there are some cultural … separate kinship term.



e.
Argument; conclusion: People everywhere recognize … we call them.


16.
In some ways biology is the most demanding of all sciences.  This is partly because living systems are so complex and partly because biology is a multidisciplinary science that requires a knowledge of chemistry, physics, and mathematics.  And of all the sciences, biology is the most connected to the humanities and social sciences.

Neil A. Campbell and Jane B. Reece, Biology, 6th edition



a.
Argument; conclusion: Living systems are so complex.



b.
Argument; conclusion: Biology is a multidisciplinary science … mathematics.



c.
Nonargument.



d.
Argument; conclusion: In some ways biology… of all sciences.



e.
Argument; conclusion: Of all the sciences … humanities and social sciences.


17.
In 2002, the wealthy nations, including the United States, committed themselves to increasing development assistance to poorer nations.  Each would spend 0.7 percent of its gross national income on aid by 2015.  The Scandinavian countries are already close to that figure.  Others have committed themselves to a specific time table to reach that goal.  The United States has not.  Currently we rank 22nd and dead last among donor nations.

James Traub. “Freedom From Want”



a.
Argument; conclusion: Currently we rank … among donor nations.



b.
Argument; conclusion: In 2002, the wealthy nations … poorer nations.



c.
Argument; conclusion: The United States has not.



d.
Argument; conclusion: Each would spend … on aid by 2015.



e.
Nonargument.


II.
The following problems relate to identifying and evaluating inductive and deductive arguments.  Select the best answer for each.


18.
Adrian’s car has a flat tire.  Someone must have slashed it with a knife.



a.
Deductive, valid.



b.
Deductive, unsound.



c.
Inductive, strong.



d.
Deductive, invalid.



e.
Inductive, weak.


19.
Every dancer on the floor has a partner.  Hence, there are an even number of dancers on the floor.



a.
Deductive, invalid.



b.
Inductive, weak.



c.
Deductive, valid.



d.
Deductive, sound.



e.
Inductive, strong.


20.
The print at the bottom of this full box of Cheerios says NET WT 15 OZ.  Therefore, the contents must weigh about 15 ounces.



a.
Inductive, weak.



b.
Inductive, uncogent.



c.
Deductive, valid.



d.
Inductive, strong.



e.
Deductive, invalid.


21.
No theocracies are true democracies.  No secular governments are theocracies.  Thus, some secular governments are true democracies.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Deductive, cogent.



e.
Deductive, valid.


22.
Either Shaun White or Scott Lago won an Olympic gold medal in 2010.  Shaun White did not win one in 2010.  Thus, Scott Lago did.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Deductive, valid.



d.
Inductive, cogent.



e.
Inductive, weak.


23.
Graffiti written on the side of this wall says “Crips Rule.”  Thus, the mayor and city council must be members of the Crips.



a.
Inductive, weak.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Inductive, cogent.



e.
Inductive, strong.


24.
Amanda is taller than Jacqueline, and Jacqueline is shorter than Laura.  Hence, it necessarily follows that Amanda is taller than Laura.



a.
Inductive, weak.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Deductive, sound.


25.
Sixty percent of the members of the Theta Society drive American cars.  Hence, since Kristy is a member of the Theta Society, it is likely that she drives an American car.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, cogent.



d.
Inductive, weak.



e.
Inductive, strong.


26.
Frank is a polygamist.  Therefore, he has more than one wife.



a.
Deductive, invalid.



b.
Inductive, strong.



c.
Inductive, weak.



d.
Deductive, valid.



e.
Deductive, unsound.


27.
Silvia is a middle-aged, dark haired Protestant woman who supports right-to-life issues.  Shelly is also a middle-aged, dark haired Protestant woman.  Therefore, she probably also supports right-to-life issues.



a.
Inductive, weak.



b.
Deductive, valid.



c.
Inductive, strong.



d.
Inductive, cogent.



e.
Deductive, invalid.


28.
Cancer is a disease that has afflicted humans for thousands of years.  Therefore, many of the ancient Romans must have died of cancer.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Inductive, sound.



e.
Inductive, weak.


29.
Given that 3x + 2 = 14.  It follows that x = 5.



a.
Deductive, sound.



b.
Deductive, invalid.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Inductive, strong.


30.
Jennifer’s cat Pinky is constantly scratching itself.  Apparently Pinky has fleas. 


a.
Inductive, cogent.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Deductive, valid.



e.
Inductive, strong.


31.
If stun guns are safe, then police officers will use them.  Stun guns are not safe.  Therefore, police officers will not use them.



a.
Inductive, uncogent.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Inductive, weak.


32.
Right wing columnist and author Michelle Malkin says that the forced relocation of Japanese Americans to internment camps during World war II was really for their own protection.  Therefore, we must drop that silly nonsense that this internment was a monstrous injustice, and start thinking of it as a humanitarian endeavor. 


a.
Deductive, invalid.



b.
Inductive, strong.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Deductive, unsound.


33.
Given circle A inscribed in square B.  It follows that the area of B is greater than the area of A. 


a.
Inductive, strong.



b.
Deductive, invalid.



c.
Inductive, cogent.



d.
Deductive, valid.



e.
Inductive, weak.


34.
Trees bearing apples, pears, and apricots all thrive in Washington state.  It must be the case that all fruit trees thrive in Washington state. 


a.
Inductive, weak.



b.
Deductive, sound.



c.
Deductive, invalid.



d.
Deductive, valid.



e.
Inductive, strong.

III.
The following problems relate to the counterexample method.


35.
All exercise sessions are healthy activities, so some jogging events are healthy activities, since some exercise sessions are not jogging events. 


Which of the following correctly expresses the form of this argument? 

a.
Some E are not J.
b.
All E are H.
c.
All E are H.
d.
E are H.



Some J are H.


Some E are not J.

Some J are H.

E are not J.


All E are H.

Some J are H.

Some E are not J.

J are H.


e.
Some J are H.



Some E are J.



All E are H.


36.
Which of the following substitutions proves the argument in Problem 35 invalid? 


a.
E = dogs, H = mammals, J = fish.



b.
E = mammals, H = animals, J = cats.



c.
E = fish, H = animals, J = dogs.



d.
E = cats, H = mammals, J = animals.



e.
E = animals, H = dogs, J = mammals

7.
If class-action lawsuits are banned, then big business will win.  Hence, big business will not win, since class-action lawsuits will not be banned. 


Which of the following correctly expresses the form of this argument? 


a.
If C then B. 
b.
Not C.
c.
If C then B.
d.
If C then B.
e.
If C then B.




Not B.


Not B.


Not C.


B.


C.





Not C.


If C then B.

Not B.


C.


B.


38.
Which of the following substitutions proves the argument in Problem 37 invalid? 


a.
C = Nicole Kidman was beheaded,  B = Nicole Kidman is dead.



b.
C = Bob Smith was beheaded, B = Bob Smith is dead.



c.
C = Abraham Lincoln was assassinated, B = Abraham Lincoln is dead.



d.
C = George Washington is dead, B = George Washington was assassinated.



e.
C = George Washington was beheaded, B = George Washington is dead.


39.
Some entertainers are not magicians, for some comedians are not magicians and some magicians that are not comedians are entertainers.



Which of the following correctly expresses the form of this argument? 


a.
Some C are not M.
b.
Some M that are not C are E.




Some M are E.


Some E are not M.




Some E are not M.

Some C are not M.



c.
Some C are not M.
d.
Some E are not M.




Some M that are not C are E.

Some C are not M.




Some E are not M.

Some M that are not C are E.



e.
Some E are not M.




Some C are not M.




All M that are not C are E.

40.
Which of the following substitutions proves the argument in Problem 39 invalid? 


a.
M = mammals, C = animals, E = dogs.



b.
M = cats, C = trees, E = animals.



c.
M = mammals, C = cats, E = animals.



d.
M = animals, C = trees, E = cats.



e.
M = fish, C = dogs, E = mammals.

IV.
Select the correct answer for the following multiple choice questions.


41.
Which of the following are all nonarguments? 


a.
Expository passages, generalizations, conditional statements.



b.
Warnings, statements of belief, explanations.



c.
Opinions, illustrations, syllogisms.



d.
Predictions, pieces of advice, reports.



e.
Analogies, causal inferences, propositions.


42.
Which of the following are all inductive arguments? 


a.
Predictions, arguments based on signs, arguments from authority. 


b.
Arguments based on mathematics, arguments from definition, syllogisms. 


c.
Arguments from definition, causal inferences, arguments based on signs. 


d.
Arguments from authority, hypothetical syllogisms, arguments from analogy.



e.
Disjunctive syllogisms, arguments from authority, generalizations. 

43.
Which of the following are all conclusion indicators? 


a.
Consequently, thus, for the reason that.



b.
It follows that, given that, inasmuch as.



c.
Entails that, as, accordingly.



d.
Hence, for this reason, consequently.



e.
Implies that, as indicated by, seeing that.


44.
In the expression “The twin towers of the World Trade Center no longer exist because they were destroyed by terrorists,” the statement “They were destroyed by terrorists is called the: 


a.
Premise.



b.
Consequent.



c.
Explanans.



d.
Conclusion.



e.
Explanandum.


45.
In the expression “If religion dictates what counts as science, then the future of education is doomed,” the statement “The future of education is doomed” is called the:



a.
Consequent.



b.
Conditional.



c.
Antecedent.



d.
Explanandum.



e.
Conclusion.


46.
An argument whose conclusion rests on a similarity between two things is: 


a.
A cogent argument.



b.
A deductive argument.



c.
A categorical syllogism.



d.
A strong argument.



e.
An argument from analogy.


47.
An argument that proceeds from our knowledge of an effect to a claim about the cause is:



a.
A categorical syllogism.



b.
An inductive argument.



c.
An argument from signs.



d.
A weak argument.



e.
A cogent argument.


48.
If an inductive argument has all true premises and a probably true conclusion, then we know: 


a.
The argument is valid.



b.
The argument is strong.



c.
The argument is cogent.



d.
Nothing, as such, about the argument’s strength.



e.
The argument is sound.


49.
Which of the following is a necessary condition for being a cat? 


a.
Having black fur.



b.
Weighing at least 8 pounds.



c.
Clawing the furniture.



d.
Being a calico.



e.
Being an animal.


50.
Which of the following sentences is a statement? 



a.
We recommend that you invest your money in low risk stock.



b.
Why don’t we take the afternoon off and go to the beach.



c.
The capital of Nevada is Sacramento.



d.
Do you know where the post office is?



e.
Come inside right this minute and eat your dinner.

Logic






Name_______________________________

Chapter 1 Test G
Each question is worth two points.  Write your answer on the form provided.  Eraser marks may cause the grading machine to mark your answer wrong.

I. The following selections relate to distinguishing arguments from nonarguments and identifying conclusions.  Select the best answer for each.


1.
The Titanic sank on its maiden voyage in 1912 because it collided with an iceberg.  Four of the ship's 16 watertight compartments could have been flooded without the ship sinking.  However the iceberg tore several gashes in the hull, flooding 5 of these compartments.



a.
Argument; conclusion: The Titanic sank on its maiden voyage in 1912.



b.
Argument; conclusion: The iceberg tore several gashes … of these compartments.



c.
Nonargument.



d.
Argument; conclusion: Four of the ship's watertight compartments … ship sinking.



e.
Argument; conclusion: The Titanic collided with an iceberg.


2.
Every individual is capable of injuring or killing himself.  This potentiality is a fundamental expression of human freedom.  Self-destructive behavior may be regarded as sinful and penalized by means of informal sanctions.  But it should not be regarded as a crime or (mental) disease, justifying or warranting the use of the police powers of the state for its control.  Therefore, it is absurd to deprive an adult of a drug (or of anything else) because he might use it to kill himself. 

Thomas Szasz, “The Ethics of Addiction


a.
Argument; conclusion: Every individual is capable of injuring or killing himself.


b.
Argument; conclusion: Self destructive behavior … informal sanctions.



c.
Nonargument.



d.
Argument; conclusion: This potentiality … expression of human freedom.



e.
Argument; conclusion: It is absurd to deprive an adult of a drug … kill himself.


3.
Acid rain is an ecological threat that must be taken seriously.  Acid rain has killed the fish in thousands of lakes, and it has caused billions of dollars in damages to important crops.  Furthermore, acid rain poses a serious threat to our nation's forests.



a.
Argument; conclusion: Acid rain is an ecological threat … taken seriously.



b.
Argument; conclusion: Acid rain has killed the fish in thousands of lakes.



c.
Nonargument.



d.
Argument; conclusion: Acid rain poses a serious threat to our nation's forests.



e.
Argument; conclusion: Acid rain has caused … damage to important crops.


4.
Most fast food restaurants cook French fries and other foods in beef tallow.  This is a flavorful shortening high in saturated fat, which has been linked to heart disease.  Chicken, which is low in fat, in a fast food sandwich has been found to contain more fat than a pint of ice cream.  The reason fast food restaurants use beef tallow is that it makes food more flavorful and it is cheaper than alternative ways of cooking food.

Dominic Salvatore, Managerial Economics, 3rd ed.


a.
Argument; conclusion: Most fast food restaurants cook … in beef tallow.



b.
Argument; conclusion: Beef tallow makes food more flavorful … cooking food.



c.
Argument; conclusion: Chicken, which is low in fat … ice cream.



d.
Nonargument.



e.
Argument; conclusion: Beef tallow is a flavorful shortening … heart disease.


5.
If growth can no longer be counted on to provide for all the major wants, private and public, of a society, or to sustain all the peripheral members of a society at a level that keeps a lid on mutinous outbreaks, especially in congested urban centers, then some specification of a nation's most serious needs--its social priorities--and some direction as to how goods are to be allocated among society's members are needed.  


Neil W. Chamberlain, Social Strategy and Corporate Structure


a.
Argument; conclusion: Growth can no longer be counted on … of a society.



b.
Nonargument.



c.
Argument; conclusion: Some specification … are needed.



d.
Argument; conclusion: Growth cannot sustain … members of a society.



e.
Argument; conclusion: Growth cannot keep a lid on mutinous outbreaks.


6.
High school health clinics across the nation should be permitted to dispense Norplant, the new birth control medication.  Teenage pregnancy today is at an all time high, and Norplant is 99 percent effective in preventing pregnancy.  Furthermore, a single dose ensures protection for a full five years.



a.
Argument; conclusion: Norplant is 99 percent effective in preventing pregnancy.



b.
Argument; conclusion: Teenage pregnancy … preventing pregnancy.



c.
Argument; conclusion: High school health clinics across the nation … medication.



d.
Argument; conclusion: A single dose ensures protection for a full five years.



e.
Nonargument.


7.
The countries of the world today are divided into 2 groups.  The more-developed countries, typified by countries in North America and Europe, are those in which population growth is under control and the people enjoy a good standard of living.  The less-developed countries, typified by countries in Latin America, Africa, and Asia, are those in which population growth is out of control and the majority of people live in poverty. 

Sylvia S. Mader, Human Biology, 4th ed.


a.
Argument; conclusion: The countries of the … into two groups.



b.
Nonargument.



c.
Argument; conclusion: The more developed countries … standard of living.



d.
Argument; conclusion: The less developed countries … live in poverty.



e.
Argument; conclusion: The less developed countries … Africa, and Asia.


8.
There are three familiar states of matter: solid, liquid and gas.  Solid objects ordinarily maintain their shape and volume regardless of their location.  A liquid occupies a definite volume, but assumes the shape of the occupied portion of its container.  A gas maintains neither shape nor volume.  It expands to fill completely whatever container it is in.

John W. Hill and Dorris K Kolb, Chemistry for Changing Times


a.
Nonargument.



b.
Argument; conclusion: Solid objects ordinarily maintain … their location.



c.
Argument; conclusion: There are three familiar … solid, liquid, and gas.



d.
Argument; conclusion: A gas maintains neither shape nor volume.



e.
Argument; conclusion: A gas expands to fill completely whatever container it is in.


9.
Cancer is apt to develop in individuals who exhibit an immunodeficiency.  For Example, people with AIDS develop a cancer of the blood vessels called Kaposi’s sarcoma.  Transplant patients who are on immunosuppressive drugs are more apt to develop lymphomas and Kaposi’s sarcoma.  Persons who inherit an immunodeficiency are also more apt to develop these cancers. 


Sylvia S. Mader, Human Biology, 4th ed.


a.
Argument; conclusion: Persons who inherit an immunodeficiency … cancers.



b.
Argument; conclusion: Transplant patients … lymphomas and Kaposi’s sarcoma.



c.
Argument; conclusion: People with AIDS … Kaposi’s sarcoma.



d.
Nonargument.



e.
Argument; conclusion: Cancer is apt to develop … an immunodeficiency.


10.
The significance of meat eating for future human evolution was enormous.  Not only did it provide a secure source of high quality protein, but as an accidental by product, it made possible the development of larger brains.  The nutritive demands of nerve tissue are high--higher in fact than the demands of the other types of tissue in the human body.  One can meet these demands on a vegetarian diet, but the overall nutritive value of a given amount of such food is less than that of the same amount of meat.


William A. Haviland, Cultural Anthropology, 5th ed.


a.
Argument; conclusion: The nutritive demands of nerve tissue … human body. 



b.
Argument; conclusion: Not only did it provide a secure source… larger brains. 



c.
Nonargument. 



d.
Argument; conclusion: The significance of meat eating … was enormous. 



e.
Argument; conclusion: One can meet these demands … amount of meat. 


11.
Bismarck, chancellor of Prussia, harnessed the conservative agenda of keeping the aristocracy in power while promoting the liberal nationalist aim of German unification.  He also proved successful at diplomacy with the other great powers.  Through three quick and successful wars against Denmark, Austria, and France, he united Germany in 1871 under Prussian leadership.

Steven L. Spiegel, World Politics in a New Era


a.
Argument; conclusion: He also proved successful … the other great powers.



b.
Argument; conclusion: Through three quick and successful … Prussian leadership.



c.
Nonargument.



d.
Argument; conclusion: Bismarck, chancellor of Prussia …aristocracy in power.



e.
Argument; conclusion: Bismarck promoted the liberal nationalist aim of German unification.


12.
Liquids and solids expand only slightly when heated, whereas gases expand appreciably when heated.  If the gas is not free to expand, its pressure rises when heated.  Certain substances may melt, burn, boil, or explode, depending on their composition and structure.  Thus, the thermal behavior of a substance is closely related to its structure.

Raymond A. Serway, Physics for Scientists and Engineers, 4th ed.


a.
Argument; conclusion: Certain substances may melt, burn, or explode … structure.


b.
Argument; conclusion: The thermal behavior of a substance … its structure.



c.
Argument; conclusion: If the gas is not free to expand … rises when heated.



d.
Nonargument.



e.
Argument; conclusion: Liquids and solids expand … when heated.


13.
We believe that our company must develop and produce outstanding products that will perform a great service or fill a need for our customers.  We believe that our business must be run at an adequate profit.  We believe that the services and products we offer must be better than those offered by our competitors.  We believe that our business must provide stability of employment and job security for all those who depend on our company for their livelihood.

Robert D. Hay, et al, "Introduction to Social Responsibility"


a.
Argument; conclusion: We believe that our company … our customers.



b.
Argument; conclusion: We believe that our business must be run … profit.



c.
Nonargument.



d.
Argument; conclusion: We believe that our business must provide … livelihood.



e.
Argument; conclusion: We believe that the services … our competitors.


14.
Oxygen makes up almost 21 percent of our present atmosphere.  It is essential to modern life for two reasons.  First, oxygen is what we must inhale so that our bodies can ‘burn’ (oxidize) food, releasing energy to our cells.  Second, we depend on oxygen for protection from the ultraviolet radiation from the sun that constantly bombards our planet.

Harold V. Thurman, Essentials of Oceanography, 5th. ed.


a.
Argument; conclusion: Oxygen is essential to modern life.


b.
Argument; conclusion: Oxygen makes up almost 21 percent … atmosphere.



c.
Argument; conclusion: We depend on oxygen … bombards our planet.



d.
Argument; conclusion: Oxygen is what we must inhale … energy to our cells.



e.
Nonargument.

15.
Chemotherapy for cancer has produced a few dramatic successes.  Almost 75% of children with childhood leukemia are completely cured.  Hodgkin’s disease, a lymphoma, once killed 2 out of 3 patients.  Now, a combination therapy of 4 different drugs can wipe out the disease in a matter of months in 3 out of 4 patients, even when the cancer is not diagnosed immediately. 

Raymond A. Serway, Physics For Scientists and Engineers, 4th ed.


a.
Argument; conclusion: Now, a combination therapy … diagnosed immediately.



b.
Argument; conclusion: Almost 75% of children … are completely cured.



c.
Nonargument.



d.
Argument; conclusion: Hodgkin’s disease … once killed 2 out of 3 patients.



e.
Argument; conclusion: Chemotherapy for cancer … a few dramatic successes.


16.
Cultural anthropology is the study of all aspects of human behavior.  It could reasonably be argued that cultural anthropology began with Aristotle, or even earlier.  But for practical purposes, the beginnings of cultural anthropology are found in the nineteenth century.  This was the century when Europeans became increasingly aware of what they termed "primitive societies" in Africa and Asia.


Robert Jurmain, et al., Essentials of Physical Anthropology, 2nd ed.


a.
Argument; conclusion: Cultural anthropology is the study … human behavior.



b.
Argument; conclusion: The beginnings … are found in the nineteenth century.



c.
Nonargument.



d.
Argument; conclusion: Cultural anthropology began with Aristotle, or even earlier.



e.
Argument; conclusion: This was the century when Europeans … Africa and Asia.


17.
Anything can be measured.  If a thing can be observed in any way at all, it lends itself to some type of measurement method.  No matter how “fuzzy” the measurement is, it’s still a measurement if it tells you more than you knew before.  And challenges posed by those things most likely to be seen as immeasurable are, virtually always, met by relatively simple measurement methods.
Dougles W. Hubbard, How to Measure Anything


a.
Argument; conclusion: If a thing can be observed … measurement method.


b.
Argument; conclusion: Anything can be measured.


c.
Argument; conclusion: And challenges posed … simple measurement methods.


d.
Argument; conclusion: No matter how “fuzzy” … more than you knew before.


e.
Nonargument.

II.
The following selections relate to identifying and evaluating inductive and deductive arguments.  Select the best answer for each.


18.
Jenny and Francine were awarded National Merit Scholarships and both love mathematics.  Jenny breezed through Dr. Marshall's calculus class with an "A".  Thus, Francine should do well in that class, too.



a.
Inductive, weak.



b.
Inductive, sound.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Deductive, invalid.

19.
Highway 37 cannot be the road to Brookfield.  The road to Brookfield is a gravel road and Highway 37 is paved.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Inductive, strong.



e.
Deductive, strong.


20.
Since Greenville is one mile from Central City, and Central City is one mile from Harristown, it follows necessarily that Greenville is two miles from Harristown.



a.
Inductive, strong.



b.
Deductive, cogent.



c.
Inductive, weak.



d.
Deductive, valid.



e.
Deductive, invalid.


21.
The National Questioner (known for its sensationalist journalism) reports that a young boy in Oklahoma has spoken with Martians.  Thus, we must draw the conclusion that Martians do indeed exist.



a.
Inductive, strong.



b.
Inductive, weak.



c.
Deductive, valid.



d.
Inductive, cogent.



e.
Deductive, weak.


22.
Since some politicians are honest people and some honest people are eloquent statesmen, it follows that some politicians are eloquent statesmen.



a.
Inductive, strong.



b.
Inductive, weak.



c.
Inductive, cogent.



d.
Deductive, valid.



e.
Deductive, invalid.


23.
Dennis drives an old beat-up Volkswagen, lives in a cheap apartment, and his clothes are old and bedraggled.  Dennis must not have much money.



a.
Inductive, strong.



b.
Deductive, sound.



c.
Deductive, valid.



d.
Deductive, invalid.



e.
Inductive, weak.


24.
Most of the students attending Shoreline Prep have extremely wealthy parents.  Since Madeline is a student at Shoreline, it is likely that her parents are wealthy.



a.
Deductive, sound.



b.
Inductive, weak.



c.
Inductive, strong.



d.
Deductive, invalid.



e.
Deductive, valid.


25.
Since figure A is a square and the length of one of its sides is exactly one inch, it follows that its area is exactly one square inch.



a.
Inductive, uncogent.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Inductive, weak.



e.
Deductive, valid.

26.
According to a two hundred year old tradition, the president of the Apex Club has always been a woman.  Therefore, the next president will most likely be a woman.



a.
Inductive, weak.



b.
Deductive, cogent.



c.
Deductive, valid.



d.
Inductive, strong.



e.
Deductive, invalid.


27.
Since a is greater than b, and c is greater than d, it necessarily follows that a + b is greater than c + d.  (a, b, c, d, = real numbers).



a.
Deductive, valid.



b.
Inductive, unsound.



c.
Deductive, invalid.



d.
Inductive, strong.



e.
Inductive, weak.


28.
Arthur looks jaundiced today.  Arthur must have the flu.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Inductive, weak.



e.
Deductive, weak.


29.
In the window of the Broadway department store a huge sign reads "Sale."  Therefore, there must be a sale going on inside.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Inductive, weak.



d.
Deductive, strong.



e.
Deductive, invalid.


30.
Since Gina and Tom have the same natural parents, it follows that they are siblings.



a.
Deductive, valid.



b.
Inductive, valid.



c.
Deductive, invalid.



d.
Inductive, strong.



e.
Inductive, weak.


31.
Many women have been elected to political offices in recent years.  Therefore, it is likely that the next American President will be a woman.



a.
Inductive, weak.



b.
Inductive, strong.



c.
Inductive, cogent.



d.
Deductive, valid.



e.
Deductive, invalid.


32.
Claire Connors and Melanie Howard cannot be one and the same person, because Claire was in Berlin during the entire month of January, and at that time Melanie was in Chicago.



a.
Inductive, strong.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Deductive, sound.



e.
Inductive, weak.


33.
If beauty pageants are abolished, then our sense of values will improve.  Beauty pageants will not be abolished.  Therefore, our sense of values will not improve.



a.
Deductive, valid.



b.
Inductive, weak.



c.
Inductive, cogent.



d.
Deductive, invalid.



e.
Deductive, cogent.


34.
Entertainer Rush Limbaugh claims that supply side economics really works.  Therefore, we should believe that supply side economics does indeed work, just as Rush says.



a.
Deductive, invalid.



b.
Deductive, valid.



c.
Inductive, weak.



d.
Inductive, cogent.



e.
Inductive, strong.

III.
The following selections relate to the counterexample method.


35.
All college professors are teachers, so all teachers are educators, since all college professors are educators.



This argument is correctly symbolized as follows:


a.
All C are E.
b.
All C are T.
c.
All T are E.
d.
All T are E.
e.
All C are T.



All T are E.

All T are E.

All C are T.

All C are E.

All C are E.


All C are T.

All C are E.

All C are E.

All C are T.

All T are E.


36.
Which of the following substitutions proves the argument in Problem 35 invalid?



a.
C = mammals, E = animals, T = fish.



b.
C = cats, E = mammals, T = animals.



c.
C = animals, E = mammals, T = cats.



d.
C = dogs, E = animals, T = mammals.



e.
C = cats, E = dogs, T = mammals.

37.
If Dorothy misses her plane, then she will arrive late for the wedding.  Therefore, Dorothy will miss her plane, because she will certainly arrive late for the wedding.



This argument is correctly symbolized as follows:


a.
If M then A.
b.
If M then A.

c.
If S then P.

d.
All M are A.
e.

S are P.



A               

M
         


If A then S.


All A are S.


A are C.


M


A



If P then A.


All S are M.


S are A.


38.
Which of the following substitutions proves the argument in Problem 37 invalid?



a.
S = George Washington committed suicide, P= he is dead, M = Abraham Lincoln committed suicide.



b.
M = George Smith committed suicide, A = George Smith is dead.



c.
M = Abraham Lincoln committed suicide, A = Abraham Lincoln is dead.



d.
M = Abraham Lincoln is dead, A = Abraham Lincoln committed suicide.



e.
M = cats, A = mammals, M = animals


39.
Some Americans are blond women, since some Americans are blond, and some Americans are women.



Which of the following is a correct symbolization of this argument?



a.
Some A are B.
b.
Some A are W.
c.
Some A are B.
d.
Some A are B.




Some A are BW.

Some A are B. 

Some B are BW.

Some A are W.



Some A are W.

Some B are W.

Some A are BW.

Some A are BW.



e.
Some A are BW.




Some A are B.   





Some A are W.


40.
Which of the following substitutions proves the argument in Problem 39 invalid?



a.
A = apples, B = red, W = fruits.



b.
A = fruits, B = green, W = apples.



c.
A = lemons, B = purple, W = fruits.



d.
A = fruits, B = yellow, W = lemons.



e.
A = fruits, B = purple, W = lemons.

IV.
Select the correct answers for the following multiple choice questions.


41.
Which of the following words is not a conclusion indicator?



a.
Accordingly.



b.
For the reason that.



c.
Wherefore.



d.
Implies that.



e.
Thus.


42.
Which of the following sentences is not a statement?



a.
Car sales are off this year.



b.
The gypsy moth is a threat to agriculture.



c.
Pile these boxes of books in the corner.



d.
Mr. Jarvis was attacked by a grizzly bear.



e.
Your bicycle has a flat tire.


43.
In an explanation, the statement that describes the event to be explained is called the:



a.
Explanandum.



b.
Explicans.



c.
Consequent.



d.
Antecedent.



e.
Explanans.


44.
Which of the following is an argument?



a.
A conditional statement.



b.
A warning.



c.
A hypothetical syllogism.



d.
A piece of advice.




e.
A report.


45.
Which of the following is not an inductive argument?



a.
An argument based on signs.



b.
A causal inference.



c.
An argument from analogy.



d.
An argument from definition.



e.
A prediction.


46.
A deductive argument always proceeds from:



a.
The particular to the general.



b.
The general to the particular.



c.
The particular to the particular.



d.
The general to the general.



e.
None of the above.


47.
Which of the following is a necessary condition for starting a campfire?



a.
Striking a match.



b.
Heating the wood to its combustion temperature.



c.
Pouring gasoline on the wood.



d.
Focusing the rays of the sun with a magnifying glass.



e.
Creating a spark by striking a piece of flint with a piece of steel.

48.
If a deductive argument has a false conclusion then we know the argument is:



a.
Unsound.



b.
Weak.



c.
Valid.



d.
Invalid.



e.
Uncogent.


49.
If an inductive argument has true premises and a probably false conclusion, then we know the argument is: 



a.
Strong.



b.
Invalid.



c.
Unsound.



d.
Valid.



e.
Weak.


50.
If the form of a deductive argument allows for a substitution instance having true premises and a true conclusion, then we know:



a.
The argument is strong.



b.
The argument is sound.



c.
Nothing, as such, about the argument's validity.



d.
The argument is valid.



e.
The argument is true.

Logic






Name_______________________________

Chapter 1 Test H
Each question is worth two points.  Write your answer on the form provided.  Eraser marks may cause the grading machine to mark your answer wrong.

II. The following selections relate to distinguishing arguments from nonarguments and identifying conclusions.  Select the best answer for each.


1.
Most partnerships have difficulty attracting substantial amounts of capital.  This is generally not a problem for a slow growing business.  But if a business’s products or services really catch on, the difficulty in attracting capital becomes a real drawback.  For these reasons, many growth companies, which begin life as a proprietorship or partnership, at some point find it necessary to convert to a corporation.
Eugene F. Brigham, Financial Management: Theory and Practice


a.
Argument; conclusion: This is generally not a problem … business.


b.
Nonargument.



c.
Argument; conclusion: But if a business’s products … becomes a real drawback.


d.
Argument; conclusion: Many growth companies … to convert to a corporation.


e.
Argument; conclusion: Most partnerships have difficulty … amounts of capital.

2.
The world’s oceans are salty because the water has dissolved salt from rocks.  Streams and rivers flowing over rocks for eons have carried the salt to the sea.  Also, water on the ocean floor flows into thermal vents, where it becomes heated and dissolves salt from the oceanic crust.  Finally, water in the vicinity of submarine volcanoes dissolves salt from the molten lava.

April Holladay, “Seas Are Salty But Don’t Get Any Saltier”


a.
Nonargument.



b.
Argument; conclusion: The world’s oceans are salty.



c.
Argument; conclusion: The water has dissolved salt from rocks.



d.
Argument; conclusion: Streams and rivers … salt to the sea.



e.
Argument; conclusion: Water in the vicinity … molten lava.


3.
No theorist has more emphatically stressed the social determinants of personality than Erich Fromm.  As a humanistic personologist, Fromm argued that a person’s behavior can be understood only in the light of cultural forces existing at a particular moment in history.  He believed that needs unique to the human being evolved through the history of humankind and that different social systems have influenced their expression.

Larry A. Hjelli and Daniel J. Ziegler, Personality Theories


a.
Argument; conclusion: No theorist has more emphatically … Erich Fromm.



b.
Nonargument.



c.
Argument; conclusion: He believed that needs … history of humankind.



d.
Argument; conclusion: He believed that different social systems … expression.


e.
Argument; conclusion: As a humanistic personologist … moment in history.


4.
Tobacco smoke is a much deadlier carcinogen and triggers a broader variety of cancers than previously believed.  A new study provides definitive evidence that secondhand smoke increases the risk of those exposed by 20%.  Also, the study firmly links smoking to stomach, liver, cervical, and kidney cancer, as well as to myeloid leukemia.  Such links were previously suspected but not proved.  

Thomas Maugh II, “Smoking Goes from Bad to Worse”


a.
Argument; conclusion: The study firmly links … myeloid leukemia.



b.
Argument; conclusion: Such links were previously suspected but not proved.



c.
Argument; conclusion: Tobacco smoke is a much deadlier … believed.



d.
Argument; conclusion: A new study provides … those exposed by 20%.



e.
Nonargument.


5.
All algae photosynthesize their own food, as plants do.  Algae are also widely distributed in bodies of fresh water and in oceans.  Because they are so numerous and because they capture energy from sunlight in the food they make, algae are an important source of food for other organisms.
Jacquelyn C. Black, Microbiology: Principles and Explorations


a.
Argument; conclusion: They capture energy from sunlight in the food they make


b.
Nonargument.



c.
Argument; conclusion: All algae photosynthesize their own food, as plants do.


d.
Argument; conclusion: They are so numerous


e.
Argument; conclusion: Algae are an important source of food for other organisms.

6.
A distinction is often made between management accounting and financial accounting.  Management accounting focuses on internal reporting.  It measures and reports financial and nonfinancial information that helps managers make decisions to fulfill the goals of an organization.  Financial accounting focuses on reporting to external parties.  It measures and records business transactions and provides financial statements issued to investors, government regulators, and other interested parties.
Charles T. Horngren, Cost Accounting, A Managerial Emphasis, 13th ed.


a.
Nonargument.



b.
Argument; conclusion: Management accounting focuses on internal reporting.


c.
Argument; conclusion: A distinction is often made … financial accounting.


d.
Argument; conclusion: It measures and records business transactions … parties.


e.
Argument; conclusion: Financial accounting focuses on … external parties.

7.
Governments do many things.  They wage war or encourage peace, and they cultivate or restrict international trade.  They open their borders to the exchange of ideas or they close them.  They tax their populations heavily or lightly, and through different means, allocate resources for education, health and welfare, or leave such matters to others.

Gabriel A. Almond, et al., Comparative Politics Today, 7th ed.


a.
Argument; conclusion: They wage war … international trade.



b.
Argument; conclusion: They tax … leave such matters to others.



c.
Nonargument.



d.
Argument; conclusion: They open their borders … or they close them.



e.
Argument; conclusion: Governments do many things.


8.
The observational method is extremely useful in helping us describe social behavior.  The correlational method is extremely useful in helping us understand what aspects of social behaviors are related.  However, only a properly executed experiment allows us to draw conclusions about cause and effect.  For this reason, the experimental method is the most commonly used research design in social psychology.

Elliot Aronson, et al., Social Psychology


a.
Argument; conclusion: Only a properly executed … cause and effect.



b.
Argument; conclusion: The experimental method … in social psychology.



c.
Argument; conclusion: The observational method … social behavior.



d.
Argument; conclusion: The correlational method … are related.



e.
Nonargument.


9.
Large groups of prospective jurors are dispatched to courtrooms where they sit around for three to four days.  Then attorneys and judges, in between other extensive court business, query each prospective juror over and over again with the same time-consuming questions to see if the juror should be excused, picked, or challenged.  The process is maddening to watch and listen to.  More often than not, after being required to report to the courtroom for three to four days the prospective jurors, in droves, are dismissed.


          Alan V. Weinberg, Letter to the Editor


a.
Argument; conclusion:  More often than not … are dismissed.



b.
Argument; conclusion:  The process is maddening to watch and listen to.



c.
Argument; conclusion:  Attorneys and judges … or challenged.



d.
Nonargument.



e.
Argument; conclusion:  Large groups of prospective jurors … four days.


10.
If banks are prevented from engaging in risky practices, predatory lending is criminalized, trading in derivatives is made transparent and backed up by capital, and Wall Street lobbyists are held in check, then accountability and responsibility will be restored to the financial system, “too big to fail” will become a thing of the past, and a repeat of the Great Recession will be avoided.


a.
Argument; conclusion: Accountability and responsibility … financial system.


b.
Nonargument.



c.
Argument; conclusion: Banks are prevented from engaging in risky practices.


d.
Argument; conclusion: Wall Street lobbyists are held in check.


e.
Argument; conclusion: A repeat of the Great Recession will be avoided.

11.
The number of protons in an atom’s nucleus determines its atomic number and the name of the element.  For example, all atoms with six protons are carbon atoms, and all those with eight protons are oxygen atoms.  Free atoms (those not combined with other atoms) have the same number of electrons as protons.  Therefore, carbon has six electrons to match its six protons, and oxygen has eight electrons to match its eight protons.
Frederick K. Lutgens, et al., Foundations of Earth Science, 6th ed.


a.
Argument; conclusion: The number of protons … the name of the element.


b.
Argument; conclusion: Free atoms … same number of electrons as protons.


c.
Nonargument.



d.
Argument; conclusion: For example, all atoms with six protons … oxygen atoms.


e.
Argument; conclusion: Carbon has six electrons … to match its eight protons.
12.
Microbiologists work in a variety of settings.  Some work in universities where they are likely to teach, do research, and train students to do research.  Others work in industrial laboratories to develop or manufacture antibiotics, vaccines, or similar biological products.  Even some law firms are hiring microbiologists to help with the complexities of patenting new genetically engineered organisms.
Jacquelyn C. Black, Microbiology: Principles and Explorations


a.
Argument; conclusion: Others work in industrial laboratories … products.


b.
Argument; conclusion: Microbiologists work in a variety of settings.


c.
Nonargument.



d.
Argument; conclusion: Even some law firms … engineered organisms.


e.
Argument; conclusion: Some work in universities … research.

13.
The earliest models of the solar system employed what Aristotle, and Plato before him, had taught was the perfect form: the circle.  The simplest possible arrangement—uniform motion around a circle having Earth as its center—provided a fairly good approximation to the orbits of the Sun and the Moon.  But it could not account for the observed variations in planetary brightness or their retrograde motion.  Thus, a more complex model was needed to describe the motion of the planets.

Eric Chaison and Steve McMillan, Astronomy Today, 3rd ed.


a.
Argument; conclusion: A more complex model … motion of the planets.



b.
Argument; conclusion: But it could not account … their retrograde motion.



c.
Nonargument.



d.
Argument; conclusion: The simplest possible arrangement … Sun and Moon.



e.
Argument; conclusion: The earliest models of the solar system … the circle.


14.
Attempts to use solar energy on a large scale could have profound results.  For example, it could change the albedo of the earth.  This is the percentage of sunlight that is reflected back into space.  Such an occurrence could cause a substantial change in the temperature of the earth, just as any other energy conversion does, making the planet too hot for life.

Robert S. Boikess and Edward Edelson, Chemical Principles


a.
Argument; conclusion: This is the percentage of sunlight … back into space.



b.
Argument; conclusion: Such an occurrence could cause … too hot for life.



c.
Nonargument.



d.
Argument; conclusion: It could change the albedo of the earth.



e.
Argument; conclusion: Attempts to use solar energy … profound results.


15.
The right to healthcare has become a consumer issue.  Historically, the poor either had to be satisfied with a decreased quality of care or to do without healthcare entirely.  Today many citizens view equal access to healthcare as everyone’s right.  An ongoing debate centers on who should pay for this care.

Ruth F. Craven and Constance J. Hirnle, Fundamentals of Nursing


a.
Argument; conclusion: Historically, the poor … do without healthcare entirely.


b.
Nonargument.



c.
Argument; conclusion: Today many citizens … everyone’s right.


d.
Argument; conclusion: An ongoing debate centers on who should pay for this care.


e.
Argument; conclusion: The right to healthcare has become a consumer issue.

16.
We are immersed in life.  We breathe it in, we walk on it, we touch it.  Each footstep on a fertile lawn or forest mat will send tremors to trillions of bacteria, millions of algae, fungi, and protozoa, and hundreds of insects and worms.  The skin on our bodies, when viewed microscopically, is a teeming matrix of tiny caverns filled with bacteria, viruses, and mites.  So dense are the unseen life forms on our bodies that they form an almost complete shell about each of us.
Gary S. Moore, Living with the Earth, 3rd ed.


a.
Argument; conclusion: Each footstep on a fertile lawn … of insects and worms.


b.
Nonargument.



c.
Argument; conclusion: We breathe it in, we walk on it, we touch it.


d.
Argument; conclusion: We are immersed in life.


e.
Argument; conclusion: So dense are the unseen life forms … about each of us.

17.
The mineral source of many manufactured items is not commonly known.  For example, few people are aware that pencil lead does not contain lead metal but is really made of the soft black mineral called graphite.  Talcum powder is ground-up rock made from the mineral talc.  And the common mineral quartz is the main ingredient in ordinary glass and is the source of silicon for computer chips.
Frederick K. Lutgens, et al., Foundations of Earth Science, 6th ed.


a.
Nonargument.



b.
Argument; conclusion: Talcum powder … made from the mineral talc.


c.
Argument; conclusion: The mineral source … is not commonly known.


d.
Argument; conclusion: And the common mineral quartz … computer chips.


e.
Argument; conclusion: For example, few people are aware … called graphite.
II.
The following selections relate to identifying and evaluating inductive and deductive arguments.  Select the best answer for each.


18.
The tag on this new coat says that the price is marked down to $49.95.  Therefore, the current price must be $49.95.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Inductive, weak.



d.
Deductive, invalid.



e.
Inductive, cogent.

19.
Michelle is an agnostic.  Therefore, she must not have any firm belief in God.



a.
Deductive, invalid.



b.
Inductive, strong.



c.
Inductive, weak.



d.
Deductive, valid.



e.
Deductive, sound.


20.
Professional football is the modern day equivalent of the Roman gladiatorial games.  Therefore, since it was expected that gladiators would kill their opponents, no one should complain if professional football players injure or kill their opponents.



a.
Inductive, weak.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Deductive, cogent.



e.
Inductive, strong.


21.
It’s easy for budding stars to make it big in Hollywood.  Look at Dustin Hoffman.  He was instantly famous after his initial role in The Graduate.



a.
Deductive, sound.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Inductive, weak.


22.
Some princes are not military officers, since some reigning monarchs are not military officers and some princes are reigning monarchs.



a.
Deductive valid.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Inductive, strong.



e.
Inductive, sound.


23.
The chief of the fire department issued a report stating that residential fires are down slightly from the prior year.  Thus, it must be the case that there have been fewer residential fires this year than last.


a.
Inductive. strong.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Deductive, sound.



e.
Deductive, valid.


24.
Given a right triangle with one 30° angle.  It follows that the other angle is 55°.



a.
Inductive, cogent.



b.
Deductive, valid.



c.
Inductive, strong.



d.
Deductive, invalid.



e.
Inductive, weak


25.
Either the Republicans will be voted out or the economy will suffer.  Therefore, the economy will suffer, because the Republicans will not be voted out.



a.
Inductive, strong.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Inductive, weak.



e.
Inductive, sound.


26.
The finger prints on the gun match those of the defendant.  Therefore, the defendant must have handled the gun.



a.
Inductive, weak.



b.
Deductive, valid.



c.
Deductive, invalid.



d.
Deductive, uncogent.



e.
Inductive, strong.


27.
If people can talk to the dead, then the dead are still alive.  People cannot talk to the dead.  Therefore, the dead are not still alive.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Deductive, invalid.



d.
Inductive, weak.



e.
Deductive, sound.


28.
Judy and her friend Claire both love post impressionist painting, and Judy thought that the Gauguin exhibit at the museum was superb.  Therefore, probably Claire would like that exhibit, too.



a.
Deductive, invalid.



b.
Deductive, sound.



c.
Inductive, weak.



d.
Deductive, valid.



e.
Inductive, strong.


29.
The billboard add for Joe’s Used Cars says that Joe has fantastic deals.  Therefore, it must be the case that Joe does indeed have fantastic deals.



a.
Deductive, invalid.



b.
Inductive, unsound.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Inductive, strong.


30.
Andrea is the sister of Henry, and Henry is the brother of Bill.  Thus, Bill is the brother of Andrea.



a.
Deductive, sound.



b.
Deductive, valid.



c.
Inductive, weak.



d.
Deductive, invalid.



e.
Inductive, strong.


31.
The emerald is more expensive than the diamond, and the diamond is less expensive than the sapphire.  Therefore, it necessarily follows that the emerald is more expensive than the sapphire.



a.
Deductive, invalid.



b.
Inductive, weak.



c.
Deductive, valid.



d.
Inductive, uncogent.



e.
Inductive, strong.


32.
In a random sample of 50 students, only 15 said that they regularly read a newspaper.  Therefore, probably less than 50% of the student body regularly reads a newspaper.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Inductive, weak.



e.
Inductive, uncogent.


33.
Given square A inscribed in circle B.  It follows that the area of A is less than the area of B.



a.
Inductive, weak.



b.
Inductive, strong.



c.
Deductive, valid.



d.
Inductive, cogent.



e.
Deductive, invalid.


34.
The Chairman of Big Tex Oil Company stated that oil company executives are drastically underpaid.  Therefore, it must be the case that oil company executives are indeed underpaid, just as the Chairman says.



a.
Deductive, sound.



b.
Inductive, weak.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Deductive, invalid.

III.
The following selections relate to the counterexample method.


35.
All real libraries are buildings containing books, so some presidential libraries are not real libraries, since some buildings containing books are not presidential libraries.



The form of this argument is:


a.
Some P are not R.
b.
Some P are not R.
c.
Some B are not P.



Some B are not P.  

All R are B.            

Some P are not R.



All R are B.

Some B are not P.

All R are B.


d.
All R are B.
e.
All R are B.



Some P are not R.

Some B are not P.



Some B are not P

Some P are not R.


36.
Which of the following substitutions proves the argument in Problem 35 invalid?



a.
R = mammals, B = animals, P = cats.



b.
B = mammals, P = cats, R = dogs.



c.
P = animals, R = cats, B =mammals.



d.
R = fish, B = animals, P = dogs.



e.
B = fish, R = animals, P = cats.

37.
If allergies are caused by viruses, then a vaccine can be developed.  Thus, a vaccine cannot be developed, because allergies are not caused by viruses.



The form of this argument is:


a.
All A are V.
b.
If A then V.
c.
Not V

d.
If A then V.



No A are D.

Not V        

Not A


Not A 


No V are D.

Not A

If A then V.

Not V 


e.
If A are C then V can D.



A are not C.






V cannot D.


38.
Which of the following substitutions proves the argument in Problem 37 invalid?



a.
A = cats, C = animals, V = dogs, D = climb trees.



b.
A = Napoleon was killed in a plane crash.  V = Napoleon is dead.



c.
A = Robert was assassinated, V = Robert is dead.



d.
A = cats, V = animals, D = mammals.



e.
A = Shakespeare suffered a heart attack, V = Shakespeare is dead.


39.
If the economy crashes, then stock prices fall, because if stock prices fall, then pension funds shrink, and if the economy crashes then pension funds shrink.



The form of this argument is:



a.
If E then S.
b.
If E then S.
c.
If S then P.
d.
All S are P.
e.
If S then P.




If E then P.

If S then P.

If E then P.

All E are P.

If E then S.



If S then P.

If E then P.

If E then S.

All E are S

If E then P.


40.
Which of the following substitutions proves the argument in Problem 39 invalid?



a.
S = Jessica Biel is a man, P = Jessica Biel is a human, E = Jessica Biel is a woman.



b.
S = cats, P = animals, E = dogs.



c.
S = Jessica Biel is a woman, P = Jessica Biel is a human, E = Jessica Biel is an actress.



d.
S = Matt Damon is an actor, P = Matt Damon is a lawyer, E = Matt Damon is a professional.



e.
S = Susan is rich, P = Susan is famous, E = Susan is happy.

IV.
Select the correct answers for the following multiple choice questions.


41.
Which of the following words is a premise indicator?



a.
It must be the case that.



b.
Thus.



c.
Consequently.



d.
Hence.



e.
Given that.


42.
Which of the following words is a conclusion indicator?



a.
Because.



b.
For.



c.
Implies that.



d.
Inasmuch as.



e.
For the reason that.


43.
Which of the following sentences is a statement?



a.
Shut the water off now.



b.
What is the capital of Idaho?



c.
Watch out!



d.
I suggest you study for your next test.



e.
My car has metallic paint.


44.
Which of the following is a deductive argument?



a.
An argument from definition.



b.
An argument from analogy.



c.
A prediction.



d.
A conditional statement.



e.
An illustration.


45.
Which of the following is an inductive argument?



a.
A disjunctive syllogism.



b.
A causal inference.



c.
An argument from mathematics.



d.
A hypothetical syllogism.



e.
An expository passage.


46.
Which of the following is a necessary condition for becoming intoxicated?



a.
Drinking a 12-ounce can of beer in an hour.



b.
Consuming alcohol.



c.
Having a corkscrew.



d.
Having a glass.



e.
Drinking a pint of whiskey in an hour.


47.
Which of the following is a sufficient condition for being a fish?



a.
Being able to swim.



b.
Having a tail.



c.
Having a bony skeleton.



d.
Being a halibut.



e.
Laying eggs.

48.
If a deductive argument has a false premise and a false conclusion, then we know:



a.
It is invalid.



b.
It is valid.



c.
Nothing, as such, about its validity.



d.
It is sound.



e.
It is weak.


49.
 If an inductive argument has all true premises and a probably false conclusion, then we know:



a.
It is weak.



b.
It is cogent.



c.
It is strong.



d.
It is valid.



e.
It is invalid.


50.
The person usually credited with having originated logic is:



a.
De Morgan.



b.
Plato.



c.
Leibniz.



d.
Aristotle.



e.
Boole.

Logic






Name_______________________________

Chapter 1 Test I
Each question is worth two points.  Write your answer on the form provided.  Eraser marks may cause the grading machine to mark your answer wrong.

I. The following selections relate to distinguishing arguments from nonarguments and identifying conclusions.  Select the best answer for each.


1.
Earth’s distance from the sun has little to do with the seasons.  The seasons are caused by the tilt of the Earth on its axis as it revolves around the sun.  This tilt causes some parts of the Earth to get slanting rays of sunlight some of the year and vertical rays of sunlight at other times.  When a hemisphere of the Earth is tilted toward the sun, it is summer in that hemisphere.

Gary S. Moore, Living with the Earth, 3rd ed.



a.
Nonargument.



b.
Argument; conclusion: The seasons are caused … as it revolves around the sun.



c.
Argument; conclusion: This tilt causes some parts … sunlight at other times.



d.
Argument; conclusion: When a hemisphere of the Earth … in that hemisphere.



e.
Argument; conclusion: Earth’s distance from the sun … the seasons.


2.
The colors of all glowing objects have the same origin:  They come from atoms and molecules that have been excited to states of high energy.  Atoms in burning fireworks and stars become excited by absorbing energy as heat.  They then throw off their excess energy as light.  The colors emitted by an atom depend on how its electrons are arranged.  So by investigating the colors an atom emits, we can determine its internal structure.

Loretta Jones and Peter Atkins, Chemistry, 4th ed.


a.
Argument, conclusion: The colors emitted by an atom . . . electrons are arranged.



b.
Argument, conclusion: The colors of all glowing objects have the same origin.



c.
Nonargument.



d.
Argument, conclusion: They come from atoms … states of high energy.



e.
Argument; conclusion: By investigating the colors … its internal structure.


3.
A rainbow sometimes occurs after a storm because the droplets of water in the air refract and reflect rays of light from the sun.  The angle of refraction is different for different wavelengths of light, and this accounts for the separation of colors in the rainbow.



a.
Argument, conclusion: The droplets of water in the air … light from the sun.



b.
Argument, conclusion: The angle of refraction … wavelengths of light.



c.
Nonargument.



d.
Argument, conclusion: A rainbow sometimes occurs after a storm.



e.
Argument, conclusion: This accounts for the separation of colors in the rainbow.


4.
Cows’ milk is hardly the perfect food, as the American Dairy Association would have us believe.  Whole milk consumed in large quantities can raise blood cholesterol levels and contribute to heart disease.  Studies have indicated a connection between the sugars in milk and ovarian cancer.  The proteins in cows’ milk can cause the body to develop antibodies that can lead to diabetes, and in a fourth of the population milk causes bloating, flatulence, and sometimes diarrhea.

Jane Brody, “Debate over Milk: Time to Look at the Facts”


a.
Argument, conclusion: The proteins in cows’ milk … sometimes diarrhea.



b.
Argument, conclusion: Whole milk consumed … contribute to heart disease.



c.
Argument, conclusion: Studies have indicated … ovarian cancer.



d.
Argument; conclusion: Cows’ milk is hardly … would have us believe.



e.
Nonargument.


5.
Although accounting has made its most dramatic progress in the field of business, the accounting function is vital to every unit of our society.  An individual must account for his or her income and must file income tax returns.  Often an individual must supply personal accounting information in order to buy a car or home, to qualify for a college scholarship, to secure a credit card or to obtain a bank loan.  The federal government, the states, the cities, the school district: all must use accounting as a basis for controlling their resources and measuring their accomplishments.

Walter B. Meigs and Robert F. Meigs, Accounting 6th ed.


a.
Nonargument.



b.
Argument; conclusion: The accounting function … every unit of our society.



c.
Argument, conclusion: The federal government … their accomplishments.



d.
Argument, conclusion: Often an individual … obtain a bank loan.



e.
Argument, conclusion: Although accounting … every unit of our society.


6.
If wind turbines are extensively deployed, solar power systems are installed, bioenergy technologies are exploited, electric cars are perfected and mass produced, and a high-speed rail network is constructed, then the nation will be weaned off its addiction to oil, climate change will be slowed, and billions of dollars in oil money will be redirected from nations that hate us to improving our own standard of living.


a.
Argument, conclusion: Billions of dollars in oil money … standard of living.


b.
Argument, conclusion: The nation will be weaned off its addiction to oil.


c.
Argument, conclusion: Wind turbines are extensively deployed.


d.
Nonargument.



e.
Argument, conclusion: Electric cars are perfected and mass produced.

7.
Social psychologists conduct research into areas such as bystander intervention, prejudice, conformity, aggression, and obedience to authority.  However, in order to gain insight into such critical issues, researchers must create vivid events that are involving for their participants.  Some of these events, by their very nature, are likely to produce a degree of discomfort in the participants, such as witnessing someone having a seizure.  Thus, what is required for good science and what is required for ethical science can be contradictory.

Elliot Aronson, et al., Social Psychology


a.
Argument, conclusion: Some of these events … someone having a seizure.



b.
Argument, conclusion: Social psychologists conduct … obedience to authority.



c.
Nonargument.



d.
Argument, conclusion: In order to gain insight … involving for their participants.



e.
Argument; conclusion: What is required for good science … contradictory.


8.
Each element and compound is a pure substance.  However, most materials are neither single elements nor single compounds.  Instead, they are mixtures of these simple substances, with one substance mingled with another.  Thus, gasoline is a mixture of hydrocarbons and additives blended together to achieve efficient combustion.

Loretta Jones and Peter Atkins, Chemistry: Molecules, Matter, and Change, 4th ed.


a.
Nonargument.



b.
Argument, conclusion: They are mixtures … one substance mingled with another.



c.
Argument, conclusion: Most materials are neither … nor single compounds.



d.
Argument, conclusion: Each element and compound is a pure substance.



e.
Argument, conclusion: Gasoline is a mixture … achieve efficient combustion.


9.
Musical instruments are classed into groups: voices, strings, woodwinds, brass and percussion.  Although they can be classified as wind, string, or percussion instruments, keyboard instruments are often considered separately.  Operated by air under pressure, the human voice is technically a wind instrument.  In recent times the computer and other electronic media have emerged as new means of producing music.
Robert Hickok, Exploring Music


a.
Argument, conclusion: Although they can be classified … considered separately.



b.
Argument, conclusion: Musical instruments … brass and percussion.



c.
Nonargument.



d.
Argument, conclusion: In recent times … new means of producing music.



e.
Argument, conclusion: Operated by air under pressure … wind instrument.


10.
Alloys in which copper is the chief constituent are used more widely than pure copper and have more desirable properties.  Bronze, an alloy of copper and tin, is easier to cast, harder, and less malleable than pure copper.  Bronze dominated early technology before iron came into use.  Brass is an alloy of copper and zinc with multitudinous uses.  Alloys of copper, nickel, and zinc, called nickel silver, have high resistance to corrosion and wear and are used as bases for silver plating and in costume jewelry.

Robert Boikess and Edward Edelson, Chemical Principles


a.
Argument, conclusion: Bronze dominated early technology … came into use.



b.
Argument; conclusion: Alloys in which copper … more desirable properties.



c.
Argument, conclusion: Alloys of copper, nickel, and zinc … costume jewelry.



d.
Argument, conclusion: Brass is an alloy of copper and zinc … multitudinous uses.



e.
Nonargument.


11.
Developing accounting information in conformity with generally accepted accounting principles is called financial accounting, because this information is designed to summarize the financial position and operating results of a business entity.  Financial accounting concepts apply to all types and sizes of business organizations.  These concepts are useful to decision makers in both business and government in evaluating a wide range of economic issues.

Walter B. Meigs and Robert F. Meigs, Accounting, 6th ed.


a.
Nonargument.



b.
Argument, conclusion: Financial accounting concepts … business organizations.



c.
Argument, conclusion: These concepts are useful … economic issues.



d.
Argument, conclusion: Developing accounting … financial accounting.



e.
Argument, conclusion: This information is designed … business entity.


12.
We can distinguish three aspects of any sound.  First, there must be a source for a sound; and as with any source, the source of a sound wave is a vibrating object.  Second, the energy is transferred from the source in the form of longitudinal sound waves.  And third, the sound is detected by an ear or an instrument.

Douglas C. Giancoli, Physics: Principles with Applications, 5th ed.


a.
Argument, conclusion: Second, the energy … longitudinal sound waves.



b.
Argument, conclusion: Third, the sound is detected by an ear or an instrument.



c.
Argument, conclusion: First, there must be a source … vibrating object.



d.
Nonargument.


e.
Argument, conclusion: We can distinguish three aspects of any sound.


13.
Nearly all philosophers and neuroscientists reject mind-body dualism.  The primary objection is that that it conflicts with the law of conservation of matter and energy in physics.  The only way to accelerate matter or transform energy, including the matter and energy in your body, is to act upon it with other matter or energy.  For these reasons, if your mind is going to influence the matter or energy of your brain or any other part of your body, your mind must itself be composed of matter or energy.

James W. Kalat, Biological Psychology, 7th ed.


a.
Argument, conclusion: The only way to accelerate … other matter or energy.



b.
Argument, conclusion: If your mind is going to influence … matter or energy.



c.
Argument, conclusion: The primary objection … matter and energy in physics.



d.
Nonargument.


e.
Argument, conclusion: Nearly all philosophers … mind-body dualism.


14.
Whistleblowing is a morally ambiguous activity on a complex concatenation of grounds:  It necessarily involves a betrayal of trust on behalf of a public interest which itself is on some occasions morally ambiguous.  It indicts otherwise morally competent individuals and organizations concerned with being perceived as legitimate.  Sometimes it arouses public opinion, a frequently contaminated process.

Natalie Dandekar, “Can Whistleblowing be Fully Legitimated?”


a.
Argument, conclusion: It necessarily involves . . . occasions morally ambiguous.



b.
Argument, conclusion: Sometimes it arouses . . . contaminated process.



c.
Argument; conclusion: Whistleblowing is a morally ambiguous activity.



d.
Argument, conclusion: It indicts otherwise morally competent . . . as legitimate.



e.
Nonargument.

15.
A mineral is a naturally occurring inorganic solid.  It possesses a definite chemical structure, which gives it a unique set of physical properties.  When the term mineral is used by geologists, only those substances that fulfill these precise conditions are considered minerals.  Consequently, synthetic diamonds, although chemically the same as natural diamonds, are not considered minerals.
Frederick K. Lutgens, et al., Foundations of Earth Science, 6th ed.


a.
Argument, conclusion: When the term mineral is used … considered minerals.


b.
Argument, conclusion: A mineral is a naturally occurring inorganic solid.


c.
Argument; conclusion: Synthetic diamonds … are not considered minerals.


d.
Argument, conclusion: It possesses a definite chemical structure … properties.


e.
Nonargument.


16.
I was appalled to read that many communities are accommodating—or pandering to—the owners of sport utility vehicles by increasing the size of parking spaces.  Apparently, officials in these cities just want to go with the flow, when they could be using parking-space politics to encourage the use of smaller, more fuel-efficient cars.  When will Americans come to their senses and see the S.U.V. for what it is?  It’s an outsized extension of egotistical consumerism.  I’m sick of being pushed around by the egotists in their Tahoes and Excursions who think nothing of misusing nonrenewable oil and gas reserves, as well as increasing pollution.

Jane F. Carlson, Letter to the Editor


a.
Argument, conclusion: It’s an outsized extension of egotistical consumerism.



b.
Argument, conclusion: I was appalled to read … the size of parking spaces.



c.
Argument, conclusion: I’m sick of being pushed … increasing pollution.



d.
Nonargument.



e.
Argument, conclusion: Apparently, officials … more fuel-efficient cars.


17.
Our attitudes and values inevitably affect how we act, and it is the same with politics.  The functioning of political institutions at least partly reflects the attitudes, norms, and expectations of the citizenry.  Thus the English use their constitutional institutions to sustain their liberty, while the same institutions were turned into instruments of repression in South Africa and Northern Ireland.

Gabriel Almond, et al., Comparative Politics Today, 7th ed.


a.
Argument, conclusion: The same institutions were turned … Northern Ireland.



b.
Argument, conclusion: Our attitudes and values … same with politics.



c.
Argument, conclusion: The English use … South Africa and Northern Ireland.



d.
Argument, conclusion: The functioning of political institutions … the citizenry.



e.
Nonargument.

II.
The following selections relate to identifying and evaluating inductive and deductive arguments.  Select the best answer for each.


18.
Given that n is an integer, it follows that 2n is an even integer.



a.
Inductive, strong.



b.
Deductive, valid.



c.
Deductive, sound.



d.
Inductive, weak.



e.
Deductive, invalid.

19.
In professional boxing it is appropriate to throw knock-out punches.  Since professional wrestling is similar in many ways to boxing, it is appropriate for professional wrestlers to throw knock-out punches.



a.
Inductive, weak.



b.
Deductive, valid.



c.
Deductive, cogent.



d.
Inductive, strong.



e.
Deductive, invalid.


20.
Most Hollywood stars have a criminal dark side.  Look at Robert Blake.  He killed his wife.  And Winona Ryder ripped off stuff worth thousands of dollars from Saks Fifth Avenue.



a.
Inductive, cogent.



b.
Deductive, invalid.



c.
Inductive, strong.



d.
Inductive, weak.



e.
Deductive, valid.


21.
Mrs. Stevenson is a philanthropist.  Therefore, she must give away a lot of money or property to what she considers worthy causes.



a.
Inductive, weak.



b.
Deductive, sound.



c.
Deductive, valid.



d.
Deductive, invalid.



e.
Inductive, strong.


22.
If people are not informed about the workings of government, then they do not vote intelligently.  People do not vote intelligently.  Therefore, people are not informed about the workings of government.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Inductive, sound.



d.
Deductive, valid.



e.
Inductive, weak.


23.
Each of the codefendants testified that the other defendant killed the victim.  Therefore, we can only conclude that both defendants killed the victim.



a.
Deductive, unsound.



b.
Deductive, invalid.



c.
Deductive, valid.



d.
Inductive, weak.



e.
Inductive, strong.


24.
No supporters of abortion rights are fundamentalist Christians.  Therefore, no fundamentalist Christians are supporters of abortion rights.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Inductive, uncogent.



d.
Inductive, weak.



e.
Deductive, invalid.


25.
The highway sign says that the risk of forest fires in this area is extremely high right now.  Therefore, we must conclude that the risk of forest fires is indeed high right now.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, cogent.



d.
Inductive, weak.



e.
Inductive, strong.


26.
Less than one percent of 38-year-old expectant mothers give birth to a Down syndrome baby.  Therefore, since Pamela is a 38 year old expectant mother, it is unlikely that she will give birth to a Down syndrome baby.



a.
Deductive, invalid.



b.
Inductive, weak.



c.
Deductive, valid.



d.
Deductive, sound.



e.
Inductive, strong.


27.
All credit cards are invitations to overspend, and some invitations to overspend are precursors of bankruptcy.  Therefore, some credit cards are precursors of bankruptcy.



a.
Deductive, invalid.



b.
Deductive, sound.



c.
Inductive, strong.



d.
Deductive, valid.



e.
Inductive, weak.


28.
DNA tests of blood found at the crime scene indicate a match with the defendant’s blood.  Therefore, the defendant must have been present at the crime scene.



a.
Inductive, weak.



b.
Inductive, strong.



c.
Deductive, valid.



d.
Deductive, invalid.



e.
Inductive, cogent.


29.
Sandra is older than Florence, and Florence is younger than Carl.  Therefore, it necessarily follows that Sandra is older than Carl.



a.
Inductive, strong.



b.
Inductive, weak.



c.
Deductive, invalid.



d.
Inductive, uncogent.



e.
Deductive, valid.


30.
Given that x – y = 13 and x = 18.  it follows that y = 4.



a.
Inductive, strong.



b.
Deductive, invalid.



c.
Deductive, uncogent.



d.
Inductive, weak.



e.
Deductive, valid.

31.
Today’s edition of the New York Times ran a long article on the terrorist bombing in Israel.  Therefore, probably the Los Angeles Times, which covers international news about as well as the New York Times, also has an article on that bombing.



a.
Inductive, weak.



b.
Deductive, valid.



c.
Inductive, strong.



d.
Inductive, cogent.



e.
Deductive, invalid.


32.
Either the painting is a forgery, or it’s worth a small fortune.  Therefore, the painting is worth a small fortune, since it’s not a forgery.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Deductive, sound.



d.
Inductive, weak.



e.
Inductive, strong.


33.
The Director of the National Park Service stated in an interview that vegetation in the parks is seriously threatened by air pollution.  Therefore, it must be the case that park vegetation is indeed threatened by air pollution, just as the Director says.



a.
Deductive, valid.



b.
Deductive, invalid.



c.
Inductive, weak.



d.
Inductive, uncogent.



e.
Inductive, strong.


34.
The bumper sticker says “Vote for Frank Jordan for Sheriff.”  The obvious conclusion is that Jordan is the best man for the job.



a.
Deductive, valid.



b.
Inductive, strong.



c.
Deductive, sound.



d.
Inductive, weak.



e.
Deductive, invalid.

III.
The following selections relate to the counterexample method.


35.
Some fettuccines are not taste sensations, for no low fat recipes are taste sensations, and some fettuccines are not low fat recipes.



The form of this argument is:


a.
No L are T.
b.
Some F are not T.
c.
Some F are not T.



Some F are not T.

No L are T.


Some F are not L.



Some F are not L.

Some F are not L.

No L are T.


d.
No L are T.
e.
Some F are not L.



Some F are not L.

Some F are not T.


Some F are not T.

No L are T.


36.
Which of the following substitutions proves the argument in Problem 35 invalid?



a.
F = animals, L = dogs, T = cats.



b.
L = fish, T = mammals, F = cats.



c.
T = fish, L = mammals, F = cats.



d.
F = dogs, T = mammals, L = animals.



e.
L = dogs, F = animals, T = fish.

37.
If champagne contains alcohol, then minors should avoid it, so champagne contains alcohol, because minors should avoid it.



The form of this argument is:


a.
If C then M.
b.
If C then M.

c.
M.

d.
All C are M.
e.
C are M.



M               

C
         


C




All A are M.


M




C


M



If C then M.


All C are A.

C


38.
Which of the following substitutions proves the argument in Problem 37 invalid?



a.
C = Napoleon was killed in a plane crash, M = Napoleon is alive.



b.
C = cats, M = mammals.



c.
C = Albert was killed in a car accident; M = Albert is dead.



d.
C = cats, A = dogs, M = mammals.



e.
C = Benjamin Franklin was killed in a plane crash; M = Benjamin Franklin is dead.


39.
If auditors botch their job, then investors are misled.  Hence, if investors are misled, then public confidence is eroded, because if auditors botch their job, then public confidence is eroded.



The form of this argument is:



a.
If I then P.
b.
If A then I.
c.
If A then I.
d.
All A are P.
e.
No A are I.




If A then P.

If I then P.


If A then P.

All A are I.

No I are P.



If A then I.

If A then P.

If I then P.

All I are P.

No A are P.


40.
Which of the following substitutions proves the argument in Problem 39 invalid?



a.
A = Jennifer Aniston is a lawyer; I = Jennifer Aniston is a human; P = Jennifer Aniston can represent clients in court.



b.
A = Bruce Willis is an actor, I = Bruce Willis is well known, P = Bruce Willis is a human.



c.
A = cats, P = mammals, I = animals.



d.
A = dogs, I = fish, P = mammals.



e.
A = candy is sweet, I = lemons are sour, P = sea water is salty.

IV.
Select the correct answers for the following multiple choice questions.


41.
Which of the following is a premise indicator?



a.
Whence.



b.
We may infer that.



c.
Implies that.



d.
Because 



e.
Accordingly.


42.
Which of the following is a conclusion indicator?



a.
Given that.



b.
As.



c.
For the reason that.



d.
Owing to the fact that.



e.
As a result.


43.
Which of the following sentences is a statement?



a.
What is the density of gold?



b.
Look!



c.
You failed the last test.



d.
Stop playing and come in for dinner.



e.
I recommend that you change the oil in your car.


44.
Which of the following is a deductive argument?



a.
An expository passage.



b.
An argument from authority.



c.
A causal inference.



d.
A disjunctive syllogism.



e.
A command.


45.
Which of the following is an inductive argument?



a.
An argument from analogy.



b.
A categorical syllogism.



c.
A consequent.



d.
A piece of advice.



e.
An argument from definition.


46.
Which of the following is a necessary condition for cooking an egg?



a.
Boiling it.



b.
Raising its temperature.



c.
Frying it.



d.
Poaching it.



e.
Breaking its shell.

47.
Which of the following is a sufficient condition for being a bird?



a.
Having a tail.



b.
Being a canary.



c.
Laying eggs.



d.
Being able to fly.



e.
Having a brain.

48.
If a deductive argument has a false premise and a true conclusion, then we know:



a.
It is sound.



b.
It is strong.



c.
It is valid.



d.
It is invalid.



e.
Nothing, as such, about its validity.


49.
 If a deductive argument has all true premises and a false conclusion, then we know:



a.
It is invalid.



b.
It is cogent.



c.
It is valid.



d.
It is sound.



e.
It is weak.


50.
In an explanation, the statement or group of statements that purports to do the explaining is called:



a.
The explanandum.



b.
The antecedent.



c.
The explanans.



d.
The consequent.



e.
The premises.
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